Large flow capacity

Yet compact size.

Low power consumption
1.8 W (DC)

Exhausting equipment for pilot valve not required.

Common exhaust port for main and pilot valve (VF1000/3000)

C: 12 dm?/(s-bar)
{4/2 — 5/3 (A/B — EA/EB)}

32 mm width

VF3000
C: 3.1 dm3/(s-bar)

VF1000 42— 53 ~B— EAEB)

C: 0.53 dm?/(s-bar) 26.4 mm width
{4/2 — 5/3 (A/B — EA/EB)}

26.4 mm width

3-4-1

O
:




Series VF1000/3000/5000

Many combinations available to fit your needs.

Series Variations/Port Size

VF1000 '
VF1000 2 position single 2 position double
1= .
= e
VF3000 e [l
J:i B A&
l.-_F
s VF3000
2 position 2 position 3 position 3 position 3 position
V8 single double closed center  exhaust center pressure center
B)(A) B ( )( ) A
VF5000 e e v oI I I
ﬁ 1F?2)1;)(F§1) (HZ)(;)(F?‘) (RZ)(F’)(RT) (RZ)(P)(H1) (F%)(;D(F%H
VF5000
2 position 2 position 3 position 3 position 3 position
single double closed center  exhaust center pressure center
( )(A) (A) (A) (B) (g)(ﬁ\)
Piping by b b b b
Body ported Base mounted
VF1000 VE3000
VF3000 Pilot Exhaust
VF5000 I Pilot valve individual Common exhaust type
exhaust (Standard) for main and pilot valve .
Pilot exhaust port (VF1000, VF3000) [ Manual Override
‘ Push type Locking type B (Slotted) | Locking type C (Manual)
(Hlustration: VF3000) (With sub-plate) [ ;-’:":b\ Manual override Manual override Manual override

f"'"\ \*
I

' I N &> >
Rated Voltage Surge Voltage l ll I
AC/ hSuppressor/Indicator Light

%
;gov\f; iogo\Y* 12V%, With surge voltage| With light/surge voltage

* s suppressor (S) | suppressor (Z)
110V7, 220V (Grommet type)| (Grommet terminal)

240 V* (Conduit terminal) :
. Electrical Entry
(DIN terminal)
DC/ . " L plug connector Grommet (G) | Grommet Conduit DIN terminal | L plug M plug
ig x;61\(/)0‘ \1/5 \Y M plug connector terminal (E) | terminal (T) (D), (Y) connector (L) | connector (M)
110 v , Note) Note)

(* Option)

Manifold Variations

VF1000 VF3000
VV5F1-30 VV5F3-30 VV5F3-60 VV5F5-20
Manifold type EXH type | Manifold type | CYL port EXH type Manifold type | CYL port| EXH type [Manifold type| A, B port | EXH type
B mount Common, Individual| B mount | Valve, Base |Common, Individual S mount Valve |Common, Individuall B mount |Valve, Base| Common

3-4-2 ZS\NC



Series VF1000/3000/5000

/\ Precautions

1Be sure to read before handling. For Safety Instructions and Solenoid Valve Precautions, refer to page 3-13-2. 1

Light/Surge Voltage Suppressor
/A Caution

g Grommet terminal (E)
gl =13 Conduit terminal (T)
o | £ | E |Grommet(G) DIN terminal (Y)
>
S0 |p L plug connector (L)
2 M plug connector (M)
[0
(o))
S o 2 i8
qé) g S & jo
AC| o Neon !@ s
g bulb !: i 8
S EZ,TZ,DZ LZ, MZ
o8lz| — (100 VAC or more)
> —p—
Y g [}[QE 2\7—)
=y [FA-% He
5 =
A n
EZ,TZ,DZ,LZ, MZ
(24 VAC or less)
<] (+)
%3’ § Red
s 8S| [ 4Y —
oo ol
5% |
» a Boo
oc|g, w7
8 Tl
S EZ, TZ,DZ, LZ, MZ
5 8lz| — (100 VDC or more)
33 #"?«9! ?1 =
=5 L 1408
58 s
A n
EZ,TZ,DZ, LZ, MZ
(24 VDC or less)

Note) W/surge voltage suppressor is available only
for grommet type.

Common Exhaust Type for Main and Pilot

Exhaust air from pilot valve will flow to
main valve exhaust port. Exhaust air from
main valve will not flow to pilot valve side
due to a check valve.

Purpose

*Not to exhaust mist from PE (Pilot
Exhaust) port to protect the surrounding
environment

* To lower the exhaust noise from PE port
when switching valve.

*To prevent silencer mounted to PE port
from getting plugged in dusty
environments.

Caution

Common exhaust valves are effective for

use with common exhaust manifolds,

however an exhaust cleaner (Series

AMC) should be installed when used in

this manner. Make sure the exhaust port

operates properly after installing the
exhaust cleaner.

Used as a 3 Port Valve

Plugging one of the cylinder ports (A or B)
enables use as a normally closed (N.C.)
or normally open (N.O.) 3 port valve.

It is convenient when 3 port valve is
needed on a manifold, etc., but it can’t be
used in special applications such as using
as a non-leakage valve. Use it with the
exhaust port leaving open.

B port A port
PIug | cyL. 1 port) (CYL. 2 port)
T f
ac);ﬂzti%n N.C. N.O.
(X) plug (X) plug
(BHA) (ElA
Y 2 24 2 4
85| Wl
k) 315 315
3 R2)1FHR1) R2)(PIR1)
; (X) plug (X) plug
2] (B
§ 2 ngl;.;a 2 4
z g IZEEU]KJE IIE(_ZIEDZIE
3165 315
R2){PHR1) R2){PYR1)

O
5

Interchangeability with V1000 and V3000

V1000 and V3000 are respectively inter-

changeable with VF1000 and VF3000.

Mounts are the same however, care must

be taken because the main valve

switching differs from the VF3000 to the

V3000.

1. When cylinder port is body ported.
Port position of CYL1 and CYL2 are
opposites. Make sure of the port
symbol and pipe so that back actuation
does not occur.

VF3000 V3000
B(CYL.1) A(CYL.2) CYL.2 CYL.1
) i
s -
j - rrat ==
® W
(CYLAY(CYL.2) (CYL.2)(CYLY)
2 4 4 2
A\ \ / N
<M =\
LA ALTA: Blyfrlx
(EXH.13) 1 (EXH2) (ExH.2) 1 (EXH.Y)
(R2) (s(g)P R1) (SUP)

2. When cylinder port is base mounted.
When the VF3000 is installed on
sub—plate or base mounted manifold
(B1, B2) in the same position with
V3000, air flow will be reversed. Follow
either of these installation procedures.
A. Install the VF3000 on the sub-plate
or manifold base in the opposite
direction.

B. Install the VF3000 in the same
position as the V3000 but reverse the
piping of the CYL port.

Grommet with surge voltage suppressor
at DC voltage has +/— direction. Connect
to the power source as follows.

DIN connection and Terminal connection
are free from +/— direction. Connect no.1
and 2 terminals to the power source.

For Grommet

Lead wire color Red Black
Wiring + —
DIN terminal and Terminal
With DIN terminal With terminal
block block
1 | o 1 N |2

7
Ground

* Applicable cable O.D.
Type D: 06 to 8 mm
TypeY : 04.5t0 67 mm
Type T : 06 to 8 mm
Type E : 92.3 to 82.8 mm
* Applicable crimp terminal
Type E, T: 1.25-3, 1.25-3S, 1.25Y-3N,
1.25Y-3S
“Type R” or “Type Y” crimp terminal
can not be used in “Type D, Y”.

3-4-3

VK
vZ

VR
3
vzs
VFs
Vs
var
Evs
VEN



Series VF1000/3000/5000

A\ Caution

VF1000 | VF3000 | VF5000
Supply P P (SUP) P
- A (CYL2)
|
Cylinder| A, B B (CYL1) A B
EXH R1 (EXH2)
outiet | FAEB | go (Exny) | RT.FR2
(g)("f\) BYAY
JIS 3 1 5 3 1 5
bol ®2 f(@;) FRPHRY RAFPHRY)
S’éi’:gle etz 5™ 1:P(SUP)  [1:P
(solenoid) 2:B(CYL1Y) |2B
1P 4A |3R2(EXH1) 3R
2B 5Ri |4A(CYL2) |4A
3:R2 5:R1 (EXH.2) |5:R1

Attaching and Detaching Connectors

1.To attach a connector, hold the lever
and connector unit between your
fingers and insert straight onto the pins
of the solenoid valve so that the lever’s
pawl is pushed into the groove and
locks.

2. To detach a connector, remove the pawl
from the groove by pushing the lever
downward with your thumb, and pull the
connector straight out.

DC indicator
2~ Indicator
/ Lever
Type L ﬁ DC coil
Connector >, [+ Red, - Black
Pn % he
A/ Lead wire

Socket DXT170-71-1

Type M

Crimping the Lead Wire and Socket

Peel 3.2 to 3.7 mm of the tip of lead wire,
enter the core wires neatly into a socket
and crimp it with a special crimp tool. Be
careful so that the cover of lead wire does
not enter into the crimping part.

Core wire
Socket Crimping area

|‘_’| Lead wire
& [ r:@

Hook Insulation

Attaching and Detaching Lead Wires with Sockets

1. Attaching

Insert the sockets into the square holes
of the connector (with + and -
indication) and, continue to push the
sockets all the way in until the lock by
hooking into the seats in the connector.
(When they are pushed in, their hooks
open and they are locked
automatically.) Then confirm that they
are locked by pulling lightly on the lead
wires.

area Core wire Max. cover diamete!

rimping 0.2100.33 mm? r)
:01.7mm

2. Detaching
To detach a socket from a connector,
pull out the lead wire while pressing the
socket’s hook with a stick having a thin
tip (approx. 1 mm). If the socket will be
used again, first spread the hook
outward.

~Connector
/

Lead wire

7Y
i@ﬂ.
.

Wl

/
/ i
Socket Hook

Plug Connector Lead Wire Length

Standard length is 300 mm, but the
following lengths are also available.

How to Order Connector Assembly

DXT170-80— |A
Lead wire color 1 mllength

i Lead wire

Symbol xﬁﬁ dst\;\gllzﬂ Note Symbol Lle(rrlgm)
Nil Socket only |Without lead  Nil 300
(2 pes.) wire 6 600

1 Blue (2) |For100VAC 10 | 1000

2 Red (2) |For200VAC 15 | 1500

3 Gray (2) |Another VAC 20 | 2000

4 |Red: +,Black:-| For DC 25 2500
30 | 3000

How to Order

Include the connector assembly part number

together with the part number for the plug

connector's solenoid valve without connector.

(Example) 2000 mm lead wire length.
VF3230-5M0-02:+--+++---- 3 pcs.
DXT170-80-4A-20-:+---- 6 pcs.

Mounting of Solenoid Valve and Pilot

Install so that there is no slippage of a
gasket, nor deformation, then tighten with
the following tightening torque.

Model Tightening torque
Pilot valve 0.6 N-m
Series VF1000 1.4 N-m
Series VF3000 1.4 N-m
Series VF5000 1.4 N-m

Mounting Screw, Manifold Gasket

Model Mounting screw Gasket
VF1030
VF10033 Round head DXT144-12
VF30130 | combination screw
VF30133 DXT031-44-1 DXT155-25-1
VF340 M4 x 39.5
VF30143 With washer DXT031-30-2
VF3050
Hexagon socket
VF5L120 head screw DXT156-9-1
AXT620-32-1
VF50144 M4 x 48 DXT156-9-2
With washer

How to Calculate the Flow Rate

For obtaining the flow rate, refer to page 3-1-10.

o
5



For details about certified products
m conforming to international standards,
LEAD ) visit us at www.smcworld.com.

@ C¢€

NRTL /C

5 Port Pilot Operated Solenoid Valve
Rubber Seal

Series VF1000

Specifications VK
Compact and lightweight: Fluid Air
26.4 mm width Operating pressure 2 position single 0.15to 0.9 MPa
C t t d range 2 position double 0.1t0 0.9 MPa
ompact yet proviaes a . . -10 to 50°C
|argepf|owycag))acity' Ambient and fluid temperature (No freezing. Refer to page 3-13-4.)

S . : Response time () 20 ms or less (at the pressure of 0.5 MPa) ——
onic conductance Max. operating frequency 10 Hz VFR
C:0.53 dm3/(s-bar) Lubrication Not required —

{4/2 N 5/3 (A/B N EA/EB)} Manual override Non-locking push, Locking slotted, Locking knob VP4
. Mounting orientation Unrestricted L
Low power consumptlon: Shock/Vibration resistance 300/50 m/s? VZS
1 8 w (DC) Enclosure Dustproof
Pilot valve EXH Individual exhaust, Common exhaust for main valve and pilotvalve [ —

voltage, without surge suppressor)
Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial VS4
direction and at the right angles to the main valve and armature in both

energized and de-energized states every once for each condition. (Values
at the initial period) VQ7
Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. —————
i

Q Note 1) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at rated VFS

ol
-~

s

(DIN terminal)

h

Test was performed at both energized and de-energized states in the EVS
axial direction and at the right angles to the main valve and armature.

VF1120 s . —
(DIN terminal with (Values at the initial period) VFN
bracket) VF1120 : Grommet, Grommet terminal, Conduit terminal L
VF1220 (Grommet  Electrical entry DIN terminal, L pl
i , L plug connector, M plug connector
(Grommet terminal) terminal) o aor P P
Coll rated voltage (V) AC 50/60 Hz 100, 200, 127,247, 48", 1107, 220", 240
2 g DC 24,6%,127,48%,100%, 110"
] Allowable voltage fluctuation —15 to +10% of rated voltage
Inrush 5.6 VA (50 Hz), 5.0 VA (60 Hz)
Note) AC
VF1220 VF1120 Apparent power Holding 3.4 VA (50 Hz), 2.3 VA (60 Hz)
(Grommet) (Grommet) - - T -
Power consumption Nete) DC 1.8 W, 2 W (With indicator light)
Lioht/Surae voltade Suppressor AC ZNR (Varistor), Neon bulb (LED100 V or less)
gniourge voltage supp DC ZNR (Varistor), LED (Neon bulb100 V or more)
-1 «Option  Note) At rated voltage
E VF1120
VF1220 (M plug connector)
(M plug connector) 3] Option
Description Part no. Note
.
DXT144-8-1A For VF1220
VF1120 Bracket
VF1220 (L plug connector) DXT144-8-3A For VF1120
(L plug connector) Silencer AN120-M5 M5 x 0.8
Throttle valve DXT154-34-1A With element

Flow Characteristics/Weight

Flow characteristics Note)
1—4/2(P— A/B) |4/2— 5/3 (A/B— EAEB i
JIS Symbol Ve ess Typeof | Port | 1—4/2(P— A/B) 14253 (AB—EANEB)  weight
. actuation size c c (kg)
Single Double dm¥sban)| © | OV | misban| © | ©V
VF1120 VF1220 Body VF1120 | 2 position single | /8 0.76  [0.22|0.17 0.53 [0.28[0.13 0.16
a w® ported | VF1220 | 2 position double | /& 0.76 [022]017]| 053 [0.28]0.13] 0.25
Note) Weight stands for grommet type.
= Al A xav (@)
@2 3R
YA
1 -
a5 Manifold
Note) Applicable manifold type
ek Type Exhaust A, B port
Type 30 Common Valve
MaSE SR B mount Type 31 Individual Valve

Q Note) For common exhaust type for main and pilot valve, model number will be VF113[3], VF123[3].

SMC 3-4-5

O



Series VF1000

How to Order
Port size — Thread type
(P, A, B) Nil | Rc
M5 | M5 x 0.8 F G Q (1/8)
o | 14 N | NPT
Q EA, EB T | NPTE
port: M5 x 0.8 [—' Option

Body ported 43l

— 01

@

VF1

2
3

0
0

L

— 01

Only when 01

. F With bracket

Not installed
when delivered

l I l | Port size
Type of Body option _ ICoil rated [ (A.B)
actuation 0 Standard voltage Electrical entry M5 |M5x0.8

- ]

_1 | Single solenoid o ?02?;‘:’:“2‘:2#‘? 1 | 100VAC,50/60Hz G | Grommet (Lead wire: 300 mm) LL

"2 | Double solenoid oilot valve 200 VAC, 5060 Hz _H | Grommet (Lead wire: 600 mm) Manual override

+ Option 3* | 110V1o 120VAC, 5060H: E Grommet terminal Nil |Non-locking push type
4* | 220VAC,5060Hz T Conduit terminal B Locking type B
5 |24VDC D| DIN  |With connector c Locking type C
6*| 12VDC DO| terminal Wit-hout conne(?tor L|ghtISurge voltage suppressor
7; 240 VAC,50/60Hz L | L plug Wlth lead W|lre Nil None
9 70.”‘9" N nnector 7W_'th°m lead wire Z* | With light/surge voltage suppressor
+ Option LO Without connector S* With surge voltage suppressor
L, M plug M With lead wire . —— .
connector: M_ M plug Without lead wire. * Indicator light is not available for grommet type.
Max. 220 VAC —-~jconnector [—m—————— W/surge voltage suppressor is available for
. ax. MO Without connector tt |
Construction grommet type only.
Single solenoid IHow to Order Pilot Valve Assembly
®@ @ Oee® ® O SF4-1|DZ| 50

Double solenoid
“ e
i1

"_‘:El ]T'H'I :

5 1.8
[R:h [FiA=)

Component Parts

No. Description Material Note
(1 | Body Aluminum die-casted Platinum silver
(2) | Adapter plate Resin Black
(3 | End cover Aluminum die-casted Black
@ | Pilot body Resin
(%) | Pilot cover Resin
(® | Piston Resin
(@ | Spool valve Aluminum, NBR
Replacement Parts
No. Description Material Part no.
Pilot valve assembly Note) — SF4-000-50

Note) Refer to “How to Order Pilot Valve Assembly” on the right above.

3-4-6

|

(A) (B) (€)
(A) Coil rated (B) Electrical entry, Light/surge
voltage voltage suppressor
1 | 100 VAC, 50/60 Hz Symbol|  Electrical entry | Light/Surge voltage suppressor
2 | 200VAC,50/60Hz G | Lead wire length None
3+ [110t0 120 VAC, 50560 Hz  GS | Grommet 300mm | With surge voltage suppressor
4*| 220VAC,50/60Hz  H | Lead wire length None
5 | 24VDC HS 600 mm With surge voltage suppressor
6| 12VDC —E | Grommet terminal None
7 *| 240 VAC, 50/60 Hz EZ With light/surge voltage suppressor
o Other _T | Conduit terminal None
# Option TZ With light/surge voltage suppressor
(C) Manual D | With None
override DZ DIN COT1.neCt0r With light/surge voltage suppressor
Nil | Non-locking push type DO terminal | Without None
- DOZ connector |with light/surge voltage suppressor
B | Locking type B -
C | Locking type C L | W|thl lead _ None
LZ | wire With light/surge voltage suppressor
_LN | Lplug Without lead None
LNZ |connector wire With light/surge voltage suppressor
LO| Without None
LOZ €oNNEctor |with light/surge voltage suppressor
M With lead None
ﬂ wire With light/surge voltage suppressor
_MN | Mplug |Without lead None
M connector wire With light/surge voltage suppressor
MO | Without None
MOz connector |With light/surge voltage suppressor

@,

model DXT154-A-0000

O
5

Note) Interchangeable with the previous



5 Port Pilot Operated Solenoid Valve )
Rubber Seal Series VF 1 000

2 Position Single Solenoid

Grommet: VF1120-0G- Grommet terminal: VF1120-0JE-}?
55
« I i
gl - Te=
& I [/ g‘ Lo
2-04.5 175 58 5(685] Applicable cable O.D. -
(Mounting hole) 49[59] 2.3 10 2.8 VK
=300 (Lead wire length) 175 y L
~— Manugl + %u =Y i Manual override VZ
— =] override T (Non-locking)
%?E?oort? Bz Ll (Non-locking) ’ =t —t '
—i
< o
- ® " ® VFR
~
P EB S B A i <«
S oA EN | e MM dED e A L 5O =g —
uaCiprn=-) SR S e e VP4
yahan s b el Ak £ nalii J o R o 5—-—1--‘ CT",-- B . N P O A I
~ 6 \Bracket H2[1o b M x 0.7 deoth 5 6 N Bracket |12 |a0) VZS
2-M5 X 0.8 2-M5 x 0.8, Rc 1/8 -M4 x 0.7 deptl
M5 x 0.8,( FF}; ; r/tf)s {EA, £B po) T A B por) (Mounting screw) 2-M5 X 0.8 3-M5 x 0.8, Rc 1/8 L
(EA, EB port) (P, A, B port) E
® VS§4
Houning seos] o] Q ():M5x0.8 Va7
[__1: With light/surge voltage suppressor
. i . EV
Conduit terminal: VF1120-0T-}? DIN terminal: VF1120-01D-{? S
- _ M5
VF1120-00Y- o3 VFN
Applicable cable O.D. )
26 to 08 Applicable
Y:70(87] cable O.D.
6350735 / 2 D:68 (885 Y:0451007
535(63.5] % Peo Y:61 D: 26 to 28 3
s : D:59
% i / 5 Pg9
e ] Manual override | Manual
,’ @& (Non-locking) : override
) ] 4 (Non-locking)
© .
9 A . e ol I
© | ~ ) - 8
o 4 <t < >_ o)
EB-{o)- als B @ © ™~
o 5 & LS 1o [ <
& ) EA D [ |92 =
L iy S
2M5x08 / P Bracket |/ |12/ R RN Bracket </ iz
(EA, EB port) / 3-M5 x 0.8, Rc 1/8 2-M5X0.8 acke 3-M5 x 0.8. Rc 1/8
(P, A, B port) (EA, EB port) =
(P, A, B port)
Q():MSXO.B Q( ): M5 x 0.8
[_1: With light/surge voltage suppressor [1: With light/surge voltage suppressor

3-4-7

O
:



Series VF1000

2 Position Single Solenoid

L plug connector: VF1120-00LO-§P =300,

(Lead wire length)

<
& 4l
[
ﬁ’\(/lp%xgﬁ Light window (With light/surge voltage suppressor)
/ port
et — 1 /Manual F
1 / | &-/|,_override %eﬁ '1
/ | ./ {(Non-locking) |
s _ i |
— o | & ] !
/ u:)‘ Yo} It
ry-guil < ] ) ~
= TOO\ A =© I ;
P 10 P
S8 | e R °®1s
Ak ‘ Y N AT P&
e T i aveam B W y T e ——
- T VAREY T 4""74
! /- _@L < ",/ =] J/ _[LE)
2-M5X0.8 / /3M5x 0.8, Re 1/8 /
(EA, EB port) (P, A, B port) /
2-045 2-M4 x 0.7 depth 4 /
(Mounting hole) & . (Mojnti.n :cprew) 2:M4 x 0.7 depth 5
e : 9 (Mounting screw)
&‘SIEW&@ — %2:
a jﬂi‘ NG 0
st Q
L 8 ():M5x038

2-M4 x 0.7 depth 4

(Mounting hole) (Mounting screw)

28

@%{%_

17
< , £
= = % Light window (With light/surge voltage suppressor)
M5X0.8 818
/ o9
/ (PE port) iy
+5 y Manual override : &:%jz ‘
} (Non-locking) :
] i 2 ‘
T 1) ji o o
%¢ & : 1 5
3 0 - @ ] TelANL =
D18 ® o 9 O ‘ =)
T i j— 1 s | | P
——— g i — 7 AT I B e
6 < 12 5
2-M5X0.8 /3-M5x0.8 Rc1/8 /
(EA, EB port) (P, A, B por) /
2. 345 2-M4 x 0.7 depth 5 /'

(Mounting screw)

Q( ):M5x 0.8

3-4-8

O




5 Port Pilot Operated Solenoid Valve

2 Position Double Solenoid

Rubber Seal Series VF 1 000

Grommet: VF1220-0JG-§¥

Grommet terminal: VF1220-CJE-§P

O

11.5(6) Manual override
(Non-locking)
T
T T y -
gg %_ﬁféw» E; Applicable cable O.D.
oy 2-M5x0.8 92310028
& ey
133 — ] L] _3
= ! ¥
2-M5x0.8 = s =
(EA, EB port) s al H- | a7 2|8
<@ ™| co|r~
@] 12 8 o EB ol —]
A F T35
FORL R S : 2-045
0|8 1 ET ; 9 (Mounting hole)
S wt | Qg L@~
ek
157 <4 2-M5X0.8
it
L-T—J 2345 26.4 (PE port)
2-M5X0.8 (Mounting hole) | 134.5
(PE port) L
L PE
Ny &A lPE < T d%‘ ”"77"£T'§
N 398 e et A
Ay -
Bracket 365 < prackel 02 “_ 3Rois
3-M5 x 0.8, Rc 1/8 (P, A, B port)
(P, A, B port) Y
=
2]
2Mg4 0.7 depth 5 Q( Lo X 08
-M4 x 0.7 de : With i I
(Mounting screw) [1: With light/surge voltage suppressor
Conduit teminal: VF1220-0T-{7 DIN terminal: VF1220-0D-}?
X M5
~2M3X08 Applicable cable 0.D. VF1220-07Y- 01 )
(EA, EB port) 5610 58 Applicable cable O.D.
N oA BEitmoT 7
2M5x08 Y oRioe”
- w 12 " F (EA, EB port) ; )
I (s Pg.9 ’ !
o) \ 12 |
§ i muoim E e AN o I —
q-mm ® = “ ' 1 1 l<( 3 , —‘; -3 O ®
R T © 0 ] ) i a8 Re
9 ] [ g =i SLECIRL
g g Salge] El 5 7
Lo 2-945 T
50 - 40
(Mounting hole) 2.04.5 50 1
(Mounting hole) ‘
2-M5 X0.8
(PE port) 2-M5 X0.8
MAX.10 155 MAX.10 (PE port) Y154
365 MAX.10, D:155 MAX.10
i H Pg.9
by ST
jfé—ﬁ ]\ .//%ﬁ \M Jlsh 3 I PE
T et ] MR "'Tﬁ \( ) <
L } 3d :-Jux‘\l ] o d ~TS
TR T 1 3d| 4 3 o
w/ ) | s N
Bracket 3-M5x 0.8, Re 1/8 ciragke! = M5 x 08. Re 1/8
(P, A, B port) W
Q [J: With light/surge voltage suppressor Q [ 1: With light/surge voltage suppressor
3-4-9

VK

VR
Vs
vzs
VFs
Vs
var
Evs
VEN



Series VF1000

2 Position Double Solenoid

135

L plug connector: VF1220-CIL- P
Light window (With light/surge voltage suppressor)

1156

e € At ey

3-M5 x 0.8, Rc 1/8 Manual override
(P, A, B port) (Non-locking)
2-M5X0.8 %
(EA, EB port)
]
HV A B Qg
e p !
oMox08 | -0 0345
(PE port) 50 T Tt
(Mounting hole)
, N Loy oS
L A
365 | <
133
0 2-M4 x 0.7 depth 4
"‘ B (Mounting screw)

H

T

M plug connector: VF1220-C0MC- P

300
(Lead wire length)

-

54.5
60.5

264 |

i

Light window (With light/surge voltage suppressor)

(EA, EB port)

) 12

(Lead wire length)

L 1585 =300,
11.5(6)

A —

il Ot L

== @T@* 5 DQL X‘,j %

3-M5 x 0.8, Rc 1/8 Manual override.

(P, A, B port) (Non-locking)
2-M5X0.8

.

g = 1
!» ; ‘E‘A %
FH EB
s o)
Eapaa &
a0 ]
2.M5X08 50 |\2045 ___
(PE port) (Mounting hole)
T Tl ls =y
1 sen | J <
133 |
10 2-M4 x 0.7 depth 5
G 4} " (Mounting screw)
e i LO;

r£be——~

e

|Option
Specifications: Silencer
Model AN120-M5 AN110-01
Maximum operating
pressure 1.0 MPa 1.0 MPa
Fluid temperature 5 to 60°C 5 to 60°C
Noise reduction® | 18 dB or more | 21 dB or more
Effective area 5 mm? 35 mm?
Port size M5 x 0.8 R /s
Material| Body BC-6 BC-6
Weight 3.3g 209
L Single unit, Manifold Manifold
Application | 4iidual EXH type) | (Common EXH type)
* At 0.5 MPa

Dimensions: Silencer

T
8| _
1 _ Port size
Type AN120-M5 AN110-01
A 17 38
Dimensions | B 5 6
C 8 13

Flow Characteristics:

[ 30 =

Throttle Valve DXT154-34-1A

207
ain

-

_..F"

i =

o

=

P
T
L

Effective area (mm?2)

o
5]

m
e a 2

4 5]

Number of needle rotations (turns)

B 0

Effective area: S =2.2 mm2, Cv =0.12
Air passage: A port — EA port (Throttle valve)

Dimensions:
Throttle Valve DXT154-34-1A

Width across flats

3-4-10

o
5



series VF1000
Manifold Specifications

Manifold Specifications

Manifold type B mount (Single base type)
Max. number of stations Max. 20 stations Not®)
Note) For more than 8 stations, supply air to both sides of P port and exhaust air from both sides of R
< Manifold Exhaust Piping/Port location Port size Applicable [y
base model port type P R (E) A B P R (E) A, B |valve model
g Common | _Side Side Top 1 1 ’
VV5F1-30 EXH | Base | Base | Vave | ’° /6 % | VFioso
Individual | Side Side Top 1 VF1033 ——
o M 1
VVSF1-31 EXH Base Base | Valve /e ° /e VFR
Note 1) Supply (P port) is common. —
Note 2) Direction of single solenoid: Same side of P(SUP) port. VP4
Option VZS
VV5F1-30 Description Part no. Applicable manifold model p——
Throttle valve DXT154-34-1A VV5F1-31 VFS
S AN120-M5 VV5F1-31 L
AN110-01 VV5F1-30 VS4
Blanking plate assembly DXT144-13-2A VV5F1-30/31
. vaQ7
How to Order Manifold L
Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold along EVS
with the manifold base model no.
(Example) VV5F1-30-051 ------- 1 pc. (Manifold base)
#*VVF1230-1G-01 -+ 2 pcs. (Valve) VFN

%VF1130-1G-01 -+ 2 pes. (Valve)
*DXT144-13-2A - 1 pc. (Blanking plate assembly)

The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

B Mount (Integrated type)
Common SUP/Individual EXH type

Type 30
VV5F1 -30-05 |1

A, B port

Stations
02 | 2 stations
20 | 20 stations Applicable
solenoid valve
VF1}30-0000-0
VF1333-0000-0
Common SUP/Individual EXH type Applicable blanking
Type 31 plate assembly

DXT144-13-2A

VV5F1 -31-053

A, B port ¥

Stations
02 |2 stations.

20 |20 stations

EA, EB port |I' i

EEETVN

%SVC 3-4-11



Series VF1000

Manifold
Common EXH: VV5F1-30-0101 (@) (E) i T oY)
Double  2n-M5 x 0.8, Rc 1/8 4-Rc 1/8 i — 2
B O TP (P, R port) / 79069 b g
5 . = m—‘r&—j .
o o = o ; 28
e e . s =
ool == = == =1 i
D - L I -
o & 2-0565 \ P Eport £ ] E o
S (Mounting — W [P
“ hole) (Pilot EXH) =
69.5(79.5] - p o
] . EEIaN 3 2.9 = Pg9
"Manual override (Lead wire length) /Ppplicable cable 0.D. 3 72[82) 2 V5155835
(Nonlo ckm) 02310028 3 Applicable cable 0.D. 2 / D:79.5(96.5]
9 26 10 08 / Applicable cable O.D.
(L 81 (M) 75 Y:04.5t0 07
75 D: 26 to 08
=
10 |
2 : .
o = @ :gi
< [ ©
“ gzl R
=300 g
(Lead wire length) s a
hel
©
L Dimension =) n: Stations
_ I~0N] 2[3[4]5]|6|7]|8]9]10]11]12]13]14|15] 16|17 |18 19] 20
Qg\]ﬂf’w’(&? o | L+ |745]102[1295]157 [1845|212|239.5] 267 [294.5] 322 [349.5| 377 [404.5| 432 |459.5| 487 [514.5| 542 [569.5
- With light/surge voltage suppressor = ™, s 951119 5] 147 [174.5] 202 |229.5| 257 |284.5] 312 |339.5| 367 [394.5] 422 [449.5| 477 [504.5[ 532 [559.5
Individual EXH: VV5F1-31-103 @) (E) ] ©.Y)
Applicable cable O.D. :
2n-M5 x 0.8. Rc 1/8 Applicable cable O.D. \.06 to z87g W
i - bt | 2.3t002.8 =) :
Manual o\‘/ernde/ /S ABpon PE port 023100 2 o0 D: 06 to 28
(Non-locking)  / ~(Pilot EXH) __745(845] g Y:86.5[103.5 ]
——m " n / | 1 - . D:84.5[101.5 ]
/ - 3 H iaa— — = Pg.g
2-Rc 1/8 ) J[ R E:
1 y P bt = 1 ~| =
F_ \( port) o a==
‘ o . 1 * 3 [ al ]
s 9™ PEHS 1 E= i —
(Mounting hole) T /175 - S §vum_7 ) )
(8.2 through hole) *"H S5 i 5]
= i — =
° o — ; o) o [ )
ead wire lengt e 808 T
=
=} I
L M 80 % +
o 86 (M) 605 1 [viss
- D:93.5 [110.5
80 m
S I
© ~ o -
8l © |
Q = :
1 24 . ['s)
[ N _2msxos = = P B r—*—'%
(EA, EB port) =
o
5
i :
_ £ |
=300 85 ;
(Lead wire length) d%
L Dimension n: Stations
_ I~ 23456 7]|8]9]10]11]12]13]14|15]16] 17| 18|19 ] 20
Q( ): Msv)\;i?rﬁi hsurae volt ossor L |745[102[1205 157 [184.5[212[230.5| 267 [2045( 322 |3495| 377 4045432 | 4595 | 487 [5145| 542 5695
[ gnusurge voltage suppressor = ey 5T g2 [119.5] 147 [1745] 202 [229.5| 257 [284.5 312 [339.5| 367 |394.5| 422 | 449.5| 477 |504.5[ 532 | 559.5

3-4-12

O
5




@ C¢€

NRTL /C

5 Port Pilot Operated Solenoid Valve
Rubber Seal

Series VF300

For details about certified products
o conforming to international standards,
LLAD ) visit us at www.smcworld.com.

Specifications VK
Compact and lightweight: Fluid Air
26.4 mm width Operating pressure | 2 position single/3 position 0.15t0 0.9 MPa
C d range 2 position double 0.1t0 0.9 MPa
—10 to 50°C
ompaCt yet pro_‘" esa Ambient and fluid temperature (No freezing Refoerto page 3-13-4.)
large flow capacity: T 3 oosiion Sraie/aeun] 2 s (oL 1h F05MPa)

. . position single/double ms or less (at the pressure of 0. a ——
Sonic conductance Response time 3 position 40 ms or less (at the pressure of 0.5 MPa) VFR
C: 3.1 dm3l(s-bar) Max. operating | 2 position single/double 10 Hz e —
(412> 5/3 (A/B > EAEB)}  _imiena VP4
Low power Consumption: Manual override Non-locking push, Locking slotted, Locking knob VZS
1 8 \" DC Mounting orientation Unrestricted

( ) Shock/Vibration resistance @) 300/50 m/s® E
Enclosure Dustproof
Pilot valve EXH Individual exhaust, Common exhaust for main valve and pilot vave =~ ————
- 5 ' Note 1) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at rated VS4
2 - voltage, without surge suppressor) L
VF3122 Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the axial [-_ _
VF3230 direction and at the right angles to the main valve and armature in both VQ7

(Grommet with bracket) energized and de-energized states every once for each condition. (Values

(DIN terminal) at the initial period)

= —= Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 Hz. EVS
a“" . = Test was performed at both energized and de-energized states in the ————
. . axial direction and at the right angles to the main valve and armature.
VF3130 (Values at the initial period) VFN
VF3230 (Grommet) S
(Grommet) Grommet, Grommet terminal, Conduit terminal

SR G DIN terminal, L plug connector, M plug connector

) ,p' . ) 100, 200, 12, 24 48*, 110°, 220, 240"
‘. | o .ﬁ‘:'Vsto o rated voltage (V) - 58/50 - 24,6712+, 48,100, 110"
el L M plu s s s s s
VF3330 (M plug

connector) Allowable voltage fluctuation —15 to +10% of rated voltage

(M plug connector)

Apparent power " AG |Inrush 5.6 VA (50 Hz), 5.0 VA (60 Hz)

Holding 3.4 VA (50 Hz), 2.3 VA (60 Hz)
- Power consumption™°t®) DC 1.8 W, 2 W (With indicator light)
. .lp:- T — AC ZNR (Varistor), Neon bulb (LED 100 V or less)
_ VFé130 g v i DC ZNR (Varistor), LED (Neon bulb100 V or more)
VF3230 = Option Note) At rated voltage
(L plug connector) (L plug connector) Q
Body ported
Option
Description Part no. Applicable valve model
vg 3530_ o V[;?\1240 il Bracket DXT031-40-3A For VF3122 only
(Conduit terminal)  ( terminal) Silencer AN110-01 R s
JIS Symbol
Single Closed center Exhaust center Pressure center
VF3130 VF3330 VF3430 VF3530
B)(A B)(A) B)(A)
(g) (2) (4) (2) (4) (2 s
VF3140 &Mﬂm mﬂ I J/lﬁ\m . 15/1131/% WM [5 31/?\—Am
VF3140 23 S RDP)RD) RIPIRD
(Grommet) (R2)(P)(R1) (R2)(P)R1)
Double
VF3230
BYA
42
VF3240 EEM:N
(L plug connector)  yg3240 513
(M plug connector) R2EIRD
Base Mounted (With sub-plate)
3-4-13

O
5



Series VF3000

Flow Characteristics/Weight

Flow characteristics @

Model (" Type of actuation Port size @ 1—4/2 (P— A/B) 4/2 — 5/3 (A/B — EA/EB) Weight
e S (kg)

[dm®%(s-bar)] b Cv [dm®%(s-bar)] b Cv

VF3122-00-01-F 2 position single 3.0 0.38 0.78 2.8 0.30 0.67 0.24
2 position single 3.0 0.38 0.78 2.8 0.30 0.67 0.21
2 position double 3.0 0.38 0.78 2.8 0.30 0.67 0.29
VF3030-00-01 | 3 position closed center 18 24 0.31 0.64 18 037 0.46 0.44
B 3 position exhaust center 2.6 0.37 0.70 3.0[2.5] |0.32[0.28] | 0.76 [0.62] 0.44
‘c"-, 3 position pressure center 3.0[1.4] |0.42[0.44] |0.83[0.39] 2.4 0.27 0.59 0.44
i VF3122-101-02-F 2 position single 4.0 0.36 1.0 3.1 0.32 0.75 0.24
3 2 position single 4.0 0.36 1.0 3.1 0.32 0.75 0.21
@ 2 position double 4.0 0.36 1.0 3.1 0.32 0.75 0.29
VF3030-0-02 3 position closed center 1/4 2.4 0.45 0.68 1.9 0.37 0.47 0.44
3 position exhaust center 3.0 0.42 0.82 3.1[2.7] |0.36[0.29] | 0.79 [0.66] 0.44
3 position pressure center 5.5[1.4] |0.37[0.50] | 1.4[0.40] 2.6 0.32 0.64 0.44
2 position single 2.8 0.14 0.64 2.5 0.18 0.57 0.38
2 position double 2.8 0.14 0.64 2.5 0.18 0.57 0.47
@_c VF3[40-0101-02 3 position closed center 1/4 2.1 0.22 0.49 1.6 0.26 0.41 0.61
2 3 position exhaust center 2.3 0.21 0.53 2.8[2.1] |0.23[0.26] | 0.66 [0.50] 0.61
3 3 position pressure center 2.9[1.1] |0.16[0.45] | 0.67 [0.32] 2.1 0.23 0.49 0.61
QE, 2 position single 3.1 0.24 0.76 2.6 0.23 0.62 0.38
§ 2 position double 3.1 0.24 0.76 2.6 0.23 0.62 0.47
VF3[140-0J0-03 3 position closed center 3/8 2.2 0.33 0.57 1.6 0.34 0.40 0.61
3 position exhaust center 2.6 0.27 0.61 2.8[2.3] |0.30[0.28] | 0.68 [0.55] 0.61
3 position pressure center 3.4[1.3] |0.29[0.48] | 0.80 [0.38] 2.2 0.31 0.52 0.61

£

Note 4) Weight stands for grommet type.
Note 5) [ ]: Denotes normal position.

Note 1) For common exhaust type for main and pilot valve, model number will be VVF3[43, VF3[143
Note 2) In the case of body ported, exhaust port is only Rc 1/8.
Note 3) With sub-plate

]How to Order Pilot Valve Assembly

SF4-{1

DZ

— 50

(B) Electrical entry, Light/Surge voltage suppressor

Symbol Electrical entry Light/Surge voltage suppressor
(A) (B) ©) G Lead wire length None
GS 300 mm With surge voltage suppressor
. . Grommet -
(A) Coil rated voltage (C) Manual override H Lead wire length : None
1 100 VAG, 50/60 Hz Nil | Non-locking push type HES 600 mm With surge ""\""age Suppressor
5 200 VAC, 50/60 Hz B Locking type B - Grommet terminal TN \i’c:; P —
311010 120 VAC,50/60 Hz _C Locking type C = gnisu gN 9¢ Supp
4*| 220 VAG, 50/60 Hz = Conduit terminal TN —, °(::Zl P r—
5 24 VDC D ith light/su QNV ge supp!
6 12VDo DZ DIN With connector With light/surge \(/)gtz e suppressor
77| 240 VAC, 50/60 Hz 5| terminal 9 gN ge Supp
9* Other Without connector — one
- Option DOz With light/surge voltage suppressor
' L . . None
LZ With lead wire With light/surge voltage suppressor
LN L plug . . None
LNZ |connector Without lead wire With light/surge voltage suppressor
LO ) None
LOZ Without connector With light/surge voltage suppressor
M . . None
MZ With lead wire With light/surge voltage suppressor
MN M plug . . None
MNZ |connector Without lead wire With light/surge voltage suppressor
Q # Interchangeable with the previous MO Without connector None
model, “DXT154-A-0000". Moz With light/surge voltage suppressor
Manifold
Manifold type
Note)
el Type EXH A, B (CYL) port
VF3030-00-3 Type 30 Common Valve
VF3040-00] B mount Type 40 Common Base
VF3[50-000 Type 50 Individual Base
VF3060-00-3 S mount Type 60, 61 Common Valve
VF370-0100-83 Type 70, 71 Individual Valve

€

Note) For common exhaust type for main and pilot valve, model number will be VF3[133, VF3043,

VF3063.

3-4-14

O

SVC



5 Port Pilot Operated Solenoid Valve
Rubber Seal

How to Order

Series VF3000

Body option »

0

Standard

3*

Common exhaust type for
main and pilot valve

* Option

Port size «—

Body ported single
solenoid with bracket

VF3122

Body ported
For type 30 manifold

VF3

Base mounted
For type 40 manifold

VF3

For type 50 manifold VF3

50

60, 61

For type 071

manifold Y4 =3¢

1
|
1
|
1
|
1

Type of actuation
] Single solenoid
Double solenoid
Closed center
Exhaust center
Pressure center

EEEERE

Body type

For type 60 and 61
manifolds
For type 70 and 71
manifolds

Body option

0

Standard

Note)
3 *

Common exhaust type for
main and pilot valve

€

* Option
Note) VF3[163 only

(P, A, B port) — Thread type
E A Nil Rc
02 1/, F G
Ri, Re, N NPT
Rc1/g T NPTF
— 1 G - 02 F | With bracket
i i i i i * Not installed
1 1 1 1 1 when delivered.
— 1] G — 02 VFR
I N — Non
111G L I . Portsize VP4
. ” . . .. | Sub-plate
1 1 1 1 N1 None VZS
11G 02 a1 % VFS
03| % VFS
VS4
Manual override Port size —
Nil | Non-locking (A, B port) vQ7
push type — —
[ Rated voltage B | Locking type B 0 % EVS
1 100 VAC, 50/60 Hz C | Lockingtype C_ 02 | Va =YY
2 | 200 VAC, 50/60 Hz f:/‘;gg%, VEN
3 *|110 V to 120 VAC, 50/60 Hz 1/4 is Re
4 220 VAC, 50/60 Hz ’
5 24 VDC Light/Surge voltage suppressor
67 12VDC Nil None
7 240 VAC, 50/60 Hz Z* | With light/surge voltage suppressor
9 - Other S * | With surge voltage suppressor
Q ) (L)pl\t/lloglug connector: * Indicator light is not available for
Max. 220 VAC grommet type. W/surge voltage

suppressor is available for

grommet type only.

Electrical entry

G

Grommet (Lead wire: 300 mm)

Grommet (Lead wire: 600 mm)

Grommet terminal

Conduit terminal

With connector

DIN inal —— ——
termina Without connector

r

L plug connector

With lead wire
Without lead wire
Without connector

N|M

H
E
T
D
DO
L
N
LO
M
M
MO

With lead wire
Without lead wire
Without connector

plug connector

O

3-4-15



Series VF3000

Construction
Single solenoid Double solenoid
B4y
24 [I=TIEN]
L] 24
3 15
FLIER . = a15s
@ @ @2 a ) PR
(B \ (Al
C¥L.1 C¥L. AE&
Bl == i L
R ‘
I & +3 1 ] e ‘La-—
3 1 5 P.E. 3 X
EXH.1  SUP  EXH.2 EE&!;J %Hf Ffp'ﬁ ]2
R B (A1) . FI//O
e T
3 position closed center | ‘{, \\\ A ﬂ\\ |
Bk ! I'\,_ _F_;' vl s :
. I_____ _
o ) ®» 20 ® ® ©
: C"E:'ME
CyL.1 L.
A 4.
/ = -7 e T
[ iE=
. e el B T
P.E. 3 1 5 P.E.
EXH.1 ESUP EXH.Z2
(A2} (P (A1)
Component Parts Replacement Parts
No. | Description Material Note No. | Description Part no. Note "
(1 | Body Aluminum die-casted | Platinum silver Sub-plate DXT031-41-3=P| 3/ Aluminum Sub plate Part No.
@ |Adapterplate | Resin Black @ P DXT031-41-48P| 1/, |  die-casted DXT031-41-3 P
(3 | End cover | Aluminum die-casted Black (9) |Pilot valve assembly| SF4-C1CJC1-50 | Refer to *How to Order’ on page 3-4-14. 4
@ | Pilot body Resin Note 1) 3 position: Zinc die-casted Thread type
(5 | Pilot cover Resin Note 2) 3 position: Aluminum N T Re
(®) | Piston Resin @ Note 3) 3 position: Metallic paint F TC
(7 | Spool valve | Aluminum, NBR N | NPT
. . ] . T | NPTF
With Bracket/Body Ported: 2 Position Single Solenoid
. _ _oi 38
Grommet: VF3122-00G-g2 F el opas
(Mounting hole)
T
g f—‘ﬁ 9[8
35
44
54
Manual override =300,
(Non-locking) . (Lead wire length) - M5X0.8
Eﬂ— _—c (PE port)
| 2-Rc1/8
{ \ (EXH port)
as
LO_ [y
pe Bt
% f\} o = o @\j
WAL _ 2l | o
& A ™ 0 E]\S,/‘ 8
¢} ]CD/) 1 © 2 " ﬁf}
I l‘l o) |
[ Eji{ I vi\ [ il
3-Rc 1/4,1/8 27 26.4
(SUP,, CYL port)
3-4-16

O
5




5 Port Pilot Operated Solenoid Valve
Rubber Seal

Body Ported: 2 Position Single Solenoid

Series VF3000

O
:

Grommet: VF3130-0JG-J} Grommet terminal: VF3130-0E-J}
98
72
B 72
gl Al |5 i ,
} A N na(l for -
i e
3-Rc 1/4, 1/8 10 Manual override _ « ST & =
(P, A, B port) 23 (Non-locking) £ ﬁ“ _
2-04.3 < 3-Rc 1/4,1/8 10 Manual override VK
i i - 23 "
(Mounting hole for manifold) O (P, A, B port) (Non-locking)
= \ i 2 2-04.3
308 ,BL 18H o (Mounting hole for manifold)
T 7 = Applicable cable O.D.
0| 10 i o 02.310 02.8
] o L
¥ e @l 67 ! /
) ]
r\T 20.5 \2-1214.2 (Mounting hole)‘ 05 ! &
T T 3]
109.5 26.4 - g
a2 || 23
o
M5 X0.8 o
61.5 ? '\T 20.5 2-04.2 (Mounting hole) —
(PE port) 1105 VES
@ -4 P RI1|PE
f =1 \\f \// 7 é/ |
72 & ] VsS4
18 [ .18 2-Rc 1/8 ——
(R1, R2 port Q [_1: with light/surge voltage suppressor vaz
Conduit terminal: VF3130-0T- 3} PR 01 EVS
: 02 DIN terminal: VF3130-C1D- 2 -~
VF3130-0Y-§} VEN
121 MAX. 10 Y:120.5 L
72 D: 121 MAX. 10
67
ooy |
B A
& - = € o % @ M ol LB f@} o N
ﬁ % SRR AL AN A
3-Rc 1/4,1/8 19 Pg.9 — Pg.9
(P, A, B port) 23 Manual override 3-Rc 1/4, 1/8 y \ Manual override
(Non-locking) (P, A, B port) 23 (Non-locking)
2-04.3 2.043
(Mounting hole for manifold) T
Applicable cable O.D. (Mounting hole for manifold) )
26 to 98 Applicable cable O.D.
Y:04.5t0 07
!W D: 06 to 08
i |
305 I R
&l @ 305 LH
1 o |
@2 ' o3| © - O @
™ o o © \ © Wi ©
*—( - o5 >0Qf>0
'\T 205 \ 2-g4.2 (Mounting hole) ; < :
1005 '\T ’ 205 ‘ 2-94.2 (Mounting hole)
109.5
Q [_I: with light/surge voltage suppressor Q [_1: with light/surge voltage suppressor
3-4-17



Series VF3000

Body Ported: 2 Position Single Solenoid

L plug connector: VF3130-01L-33
Light window (With light/surge voltage suppressor)

1105 /o
105.5 /
67 /
of 1A A
NP
= L
/LQ Manual override ey
2.034.3 23 (Non-locking) =)
(Mounting hole for manifold) 3-Rc 1/8, 1/4 %
(P, A, B port) E
=]
E o ®
n 23
305
T = N ol 9
L 8
un| Te]
)
ENm i
Lol L@

~ [ 205] \204.2 (Mounting hole)
1095 264

M5X0.8
615 (PE port)

K3 ;
a3 Oyl T T
i 6}@>

L1818

2-Rclé
(R1, R2 port)
M plug connector: VF3130-00M-32
Light window (With light/surge voltage suppressor)
1225 =300
67 (Lead wire length)
|
T J
of LA | ol
S TR
= )
/lq Manual override
2-04.3 23 (Non-locking)
(Mounting hole for manifold) 3-Rc 1/8, 1/4
(P, A, B port)
— |
305
T Yeoreed ] T 0
I A B N3
10| 19 - )
5 2 | i %
{—( & ’: ﬁ
~ [ 205 ] \ 2042 (Mounting hole) ‘
109.5 264
MbBX0.8
615 (PE port)
ﬂ}l P PE,
N R1
003 ?}’?» Q /\ $/ S e
18 |.18
2-Rclg

(R1, R2 port)

3-4-18

O
5



5 Port Pilot Operated Solenoid Valve

Rubber Seal Series VF 3000

Body Ported: 2 Position Double solenoid, 3 Position Closed Center/Exhaust Center/Pressure Center

Grommet: VF3130-00G-J3 Grommet terminal: VF3J30-00E- 3
135 (3 position: 155.5)
83 (3 position: 103.5)
e —f— L 83 (3 position: 103.5)
I ?J Bony (00 [T -
o R B Y £
3_RCI1/4 1/é 10 "\ Manual override < E{ ' el W IR "F -
(P, A, B port) 23 (Non-locking) g 3-Rc 1/4, 1/8 o, Manual override VK
% (P, A, B port) 23 (Non-locking)
8 ! B ofz
—— o
73 (3 position: 93.5) Q Sc';” §
i e — 2 Applicable cable O.D.
i N B 02310028
= ® Qi 1 73 (3 position: 93.5) Y —
%“* holl ‘ ® = - B VER
| . L d
’ ,\T 205 | \ 2-04.2 (Mounting hole) " - T 5 2
n©) —_—
158.5 (3 position: 179 264 1 | & 8 ol 8
. (8 positi ) . i *_(l ‘ W g s VP4
"T 205, | \ 2-g4.2 (Mounting hole) T
. VZS
160 (3 position: 180.5) . L
62 (3 position: 73)  2-M5 X 0.8 —
N (PE port) VFS
S il | —
-- 0 L. |
e VsS4
j 18 | 18 2-Rcls —
(R1, R2 port) Q V 7
(1 : with light/surge voltage suppressor L
H H . 01 H . 01 EVS
Conduit terminal: VF3O30-0T- g2 DIN terminal: VF3130-C1D- g3 ="
VF3030-0Y-§3 VEN
Y: 180 (3 position: 200)
MAX.10 181 (3 position: 201.5) MAX.10 Max.10 D: 181 (3 position: 201) LA
- 83 (3 position: 103.5) -t : 83 (3 position: 103.5)
- ' ¥ y B
o B o (L oo
L] P ™ @ e iRE
3-Re 1/4, 1/8 10| Manualoverride e SR, 16 - Nl overioeh, P2
(P A, B port) o (Non-locking) (P, A, B port) ; (Non-locking)
2-04.3
(Mounting hole for manifold) 2043 2/
(Mounting hole for manifold) Applicable cable O.D.
Applicable cable O.D. Y:04.51t0 07 !
26 to 08 D: 06 to 08
78 3 postion:935) [ T 1Y Hf | ] oopsonsos
) " | E T | ! T 1 = = E %IEQ
| - | | 4[| .l=ss8les
‘ 8 @@ i = Bl~a|=o
© il 1 11
ripe 4o gl 111 L
| - | L?CIF.I | ", 2-04.2 (Mounting hole)
,\T 205 | \ 2-g4.2 (Mounting hole) 158.5 (3 i -179)
158.5 (3 position: 179) ] =219 posilion:
Q [_I: with light/surge voltage suppressor Q [ : With light/surge voltage suppressor

3-4-19

O
5



Series VF3000

Body Ported: 2 Position Double Solenoid, 3 Position Closed Center/Exhaust Center/Pressure Center

. - _o1 160.5 (3 position: 181)
L plug connector: VF3[130-IL-p5 150 (3 pasition, 170.5)
73 (3 position: 93.5) Light window (With light/surge voltage suppressor)
B4 O SR8
L b
2.04.3 %—% __Manual override gm
(Mounting hole for manifold) ~ (Non-locking) &
3-Rc 1/8, 1/4 o
(P, A, B port) =
3SI3
[Se ]
! =
k| s EEE
o __$x | {{
~ 205 2-94.2 (Mounting hole) EIﬁi
158.5 (3 position: 179) 26.4

62 (3 position: 73) 2-M5X0.8

© (PE port)
I il }r\ nlel L
TN
PE [ R2 é‘\T{ 4
18118 2-Rel%
(R1, R2 port)
. 01
M pluQ connector: VF3130-LIMO-o2 Light window (With light/surge voltage suppressor)
184 (3 position: 204.5) =300
73 (3 position: 93.5) (Lead wire length)
|
——— D f“ﬁ$ H/’\‘JA,O m/ﬁ‘\ (7
==B—o o TR R
2.04.3 12% \\ \\ Manual over!'ide
(Mounting hole for manifold) \\ (Non-locking)

N\
\_3-Rc 1/8, 1/4
(P, A, B port)

— [ pum

— T

| EA]

,\1 20.5 2-g4.2 (Mounting hole)

|
35
54.5

158.5 (3 position: 179) 26.4
62 (3 position: 73) %

o]
- <

i {*}A o |4
[ i 7Ty ¥ 1

gﬁ S -0y ==
18 | 18 | 2.Rcl%

(R1, R2 port)

3-4-20

O
5



5 Port Pilot Operated Solenoid Valve

Rubber Seal

Base Mounted (With sub-plate): 2 Position Single Solenoid

Series VF3000

Grommet: VF3140-00G-$3 el Grommet terminal: VF3140-C1E-33
© H—{
- Manual override 2-24.3
: Mounting hole
(Non-locking) v = ‘A\ 9 )
TG
— N G !
Ji oo | G
Ll R2 |
E T P R2
36 |20
. 2-043 89.5
7?/l\llé:>nnlﬁ>lc?(\ilsg)lde i(Mounting hole) 128
| —
3]
vg J@E%m L R
N = ﬁ R2 J Applicable cable O.D.
o1 2300 WY | : R220 22.310 02.8
= | 36 _
(Lead wire length) 89.5 |
1155 4‘ _
127 M == T
0 Tl
~ [l \ i i
7 = | PE port = ©
; ﬁ (Piping port) ﬁl} {E @—T’)Ig Iy
L 9 5-Rc 1/4, 3/8 25..25.
et ©) (Piping port) a7
reen 100 O
(Pilot EXH) / Ry
5-Rc 1/4, 3/8 25 125 Q
(Piping port) 87 [ : With light/surge voltage suppressor
Conduit terminal: VF3140-01T-3 DIN terminal: VF3140-01D-33
(6@4{'3 - VF3140-01Y-33 5043
M | id ounting hole ) " )
(Na:)nnlflezac(l)(\ilsgr;r)l : v | ./ Manual oyerr|de (Mounting hole)
o WG (Non-locking) " T
gy Y _ 1)) i \ d @
- - R2 « - $ ]\»“ . ""g
R1 [ —-71 —:/ J ‘ {@ Rz
36 20 R1 O} P— R2
895 36|20
MAX.10 1385 89.5
Y:138
MAX. 10 D:138.5
Applicable cable O.D. Applicable cable O.D.
26 to 08 Y: 04.5 to 07
. D: 06 to 08
T L
@/ F Pg [¢] l |
= aslgs™ T
N o 9 ===l J
4 3 22lan A 2
PE port +H LoD : i I
(Pilot EXH) @ { } % Y > &> a| PEport L ©
; € ol >8> 2 (Pt EXH) @( @—mg'&,
26 | 25 E
5-Rc 1/4, 3/8 3 55 | 55
(Piping port) 1 5-Rc1/4,3/8 | .
(Piping port) 3 =
Q [_1: with light/surge voltage suppressor Q [ ]: with light/surge voltage suppressor
3-4-21

O

VK
VZ

F
VFR
VP4

|| N
wiw

VS4
vQz
Evs
VFN




Series VF3000

Base Mounted (With sub-plate): 2 Position Single Solenoid

33

L plug connector: VF3140-01L0-$ 2

oy

V)
N

| s—

Light window (With light/surge voltage suppressor)

Manual override

(Non-locking)

2-04.3
(Mounting hole)

le}
Nl L o}
“’ﬁ R2 «@
R1 p——R2
36 |20
=300 123

(Lead wire length) 128

Light window (With light/surge voltage suppressor)

i/

e .
PE port {%) © miﬁlaw
25|26
5-Rc1/4,3/8 43
(Piping port) 81
M plug connector: VF3140-00M-33 28 33
O-0- 7

!

Light window (With light/surge voltage suppressor)

N\,

2-04.3

\ )
\ Manual override (Mounting hole)

N

=300

\ (Non-locking)

35

PE port g) oW

5-Rc 1/4, 3/8

(Piping port)

3-4-22

O
5




5 Port Pilot Operated Solenoid Valve

Rubber Seal Series VF 3000

Base Mounted (With sub-plate): 2 Position Double Solenoid, 3 Position Closed Center/Exhaust Center/Pressure Center

Grommet: VF3140-1G-33 os 33 Grommet terminal: VF3(140-CE-3
@ @ 2-04.3
= - M | (Mounting hole)
anua
0 override 36 20 ‘
(Non-locking) v T
: t } - IR 472 ' @
-8 © L B B
? g Ll oo R2 N VK
2-04.3 Rifore——Re —_—
(Mounting hole) |48
Manual override 36 20 83 (3 pos.lt-|on: 103.5) —VZ
m } 160 (3 position: 180.5)
. e
Nm‘ Cen j . @ . Y —
& P b
T Rt ﬁ..ﬁiw Applicable cable O.D. VFR
61 =300 ' 48 22.31002.8 —
Lead wire length) 83 (3 position: 103.5) —1—‘ I
( gty 135 (3 position: 155.5) {"* | ‘ }/ VP4
158.5 (3 position: 179) T ; s [ i —
- @l | |vzs
] § , | 055
‘ ; )
== = Q| |
: Ty : PE port @}‘/\ @ N N E
' (Pilot EXH) N 7 o8 —
‘ 25 |. 25 VS4
: ; ! 9 5-Rc 1/4,3/8 / 5 e —
s © .. —
PE port / t (Piping port) 31
(Pilot EXH) @ @ @}__m X _VQ7
hat | —
5-Rc 1/4, 3/8 22 EVS
(Piping port) 81 Q —
[_1: with light/surge voltage suppressor VEN
Conduit terminal: VF3[140-JT- 3 DIN terminal: VF3(140-C1D-33
02
5043 VF3040-0Y-83
Manual override (Mounting hole) V- 180 (3 position: 200
(Non-locking), 36\ _, 20 MAX.10, | D: 181 és Bosmoni 2013 MAX.10
= = 83 (3 position: 103.5)
] T . 48
N . o |
] - R2 _ ” v @»&Lﬂ ,
h[vﬁgvp—kz H i g o
48 T T I 7 $< <'>
i | R2
83 (3 ition: 103.5 g&
MAX.10 181 (3 pos'lt'lon- 201 ) AX.10 Manual override L
- (3 position: 201.) MAX. (Non-locking) /\_ 36 20
2-04.3
Applicable cable O.D. (Mounting hole)
06 to 08 Pg.9 Applicable cable O.D.
Y:04.5t0 97
[ D: 06 {o 28
F’g.QN . T [ 1o !
+ £ | 1
H ' | [ 7 Il ‘ S ia[ie]| (5]
| | 1 8E e
1 . . ‘ | g & 5 : == [=]l—
S N ‘ 18 EREF
PE port ,’@, T o s i O Do »O
(Pilot EXH) QIN PE port £ @ SR [ >8]>8
% | o5 (Pilot EXH) > g | el
5-Rc 1/4, 3/8 43 25 25
(Piping port) 31 5-Rc 1/4, 3/8 23
(Piping port) 81
Q [_1: with light/surge voltage suppressor

SVC 3-4-23

O



Series VF3000

Base Mounted (With sub-plate): 2 Position Double Solenoid, 3 Position Closed Center/Exhaust Center/Pressure Center

L plug connector: VF3[140-C1L1-33 %8 33

Light window
(With light/surge voltage suppressor)
48

Manual override
(Non-locking)

[ v E1®
- Y
& a"i ® Em
AR NS
- - ‘;@ R2 - {—Tm
i P——JR2—

2043 /] 36 |20
(Mounting hole) 150 (3 position: 170.5)

(Lead wire length) 160.5 (3 position: 181)

HiHj -
R EIN

42
=T

H 0
T 3]
T —— o
pepot /1(3 O O jaab
5-Rc 1/4, 3/8 2 2543
(Piping port) 87
M plug connector: VF3140-0MC- 33 s s
NN o
¢ G s
[ L e

[ 10101
o =

Light window
(With light/surge voltage suppressor)
48

Manual override
(Non-locking)

S A v E YT—
NKN?F R s di]] o ‘@i %RZ T@%@% iy

R1 t—P—]R2
2-04.3 36 20
(Mounting hole) 184 (3 position: 204.5)

4
6

83

=300
(Lead wire length)

i ::

WS

10
_LWL:J—— 8
3\
PEport /160 3 £ oy
5-Rc 1/4, 3/8 20 2543
(Piping port) a1

3-4-24

O
5



Series VF3000
Manifold Specifications

Manifold Specifications

Manifold type B mount (Single base type) S mount
Exhaust port type Common [ Individual Common [ Individual
Max. number of stations Note) 20 stations 10 stations

Note) In the case of more than 8 stations for B mount or more than 4 stations for S mount, supply air VK
from both sides of P (SUP) port and exhaust from both sides of R (EXH) port.

Stvle Manifold |5 (EXI(-])) Piping/Port location Port size A plicable(2) &
y base model |type [P (SUP)|R (EXH)|A, B (CYL)|P (SUP)|R (EXH)[A, B (CYL)| valve model
g Side Side Top 1 1 /8 VF3030
VV5F3-30 | Common| o= | =~ = | ove Va Va s VF3033 A
Side | Side | Bottom vrsoso  |[VFR
B B 1 1 1
mount | VV5F3-40 | Common| = = | £ = | o /4 /4 /4 VFao43
VV5F3-50 |Individual| S0 | Top_ | Botlom |y} Ty, | yegmse | VP4
Base | Valve Base L
’ Side Top Top 1 1 8 VF360
VV5F3-30 VVSF3-60 | Common| o\ "ot |side plate| Valve | ¢ 4 vy | vraoes  |VZS
Side Side Side 1 1 1z VF3160
y VF3163
S mount | C°mmon Side plate|Side plate| Valve /a s /4 |(Single solenoid only) VFS
: 1 —_—
VV5F3-70  [Individual| —ooe- | Bottom | _Top_ |y, %6 | Vrso7o
Side plate| Valve | Valve Va VS4
. Side | Side | Side 1 1 V8 VF3170  —urr
VV5F3-71 |Individual Side plate| Vaive | Valve V4 V4 Va  |(Sngesolnoidony Va7
Note 1) Supply (P port) is common. L
Note 2) Common exhaust type for main and pilot valve is possible only in the valves of common
exhaust. EVS
Option _ VEN
Description Part no. Applicable manifold model e
Individual EXH spacer assembly Nete) DXT155-17-1A VV5F3-30/40
Blanking plate assembly DXT031-38-1A VV5F3-30/40/50

Note) Used to exhaust air individually from certain valves mounted on common exhaust manifolds
“Type 30” and “Type 40”.

How to Order Manifold

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold
along with the manifold base model no.
(Example) VV5F3-40-052-02----1 pc. (Manifold base)

*\V/F3140-1G 2 pcs. (Valve)

*\/F3240-1G:---- 2 pcs. (Valve)

*DXT031-38-1A:---- 1 pc. (Blanking plate assembly)

«The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

VV5F3-60

B Mount (Integrated type)

Top ported/Common EXH type
Applicable solenoid valve

L’””.h V5F3_ 30051 vrsoso-oooo-8)

. VF3033-0000-91
02
ﬁﬂ Applicable blanking plate
02 | 2 stations assemb|y

: DXT031-38-1A
20 stations Applicable individual EXH
spacer assembly
DXT155-17-1A

Applicable solenoid valve

V5F3—-40-05|2— 02 vro4o-oooo

VF3043-0000

R port ._]
174 Stations Applicable blanking plate
P port 02 | 2 stations assembly

: DXT031-38-1A

. 20 120 stations. Applicable individual EXH
% A, B port _ spacer assembly

174 DXT155-17-1A

% SMC 3-4-25



Series VF3000

B Mount (Integrated type)

Bottom portedllndividual EXH type

Type 50 | VV5F3 -50-05 |4 -02

EXH (R) port
P (Valve body) Stations o—]

02 "2 stations

20 | 20 stations

M1
R A,I JIr?:dfport

Applicable solenoid valve
VF3050-0000

Applicable blanking plate assembly
DXT031-38-1A

S Mount (Separated type)

Top ported/Common EXH type

Type 60 VV5F3 - 60 {05]1

CYL (A, B) port
o i StatlonSo—]

02 "2 stations

10 | 20 stations

EXH POF'[ / SUP port

Applicable solenoid valve
VF3060-0000-30

VF3063-0000-33 0

Side ported/Common EXH type

Type 61 VV5F3 - 6105 |1
S Stations —1|

702 [ 2 stations statlons

10 | 20 stations

144 14

Applicable solenoid valve
VF3160-0000-3% 0

VF3163-0000-33 00

Top ported/Individual EXH type

Type 70 VV5F3 -70-05|3

CYL (A, B) port _ Stations 0—]
=5 02 M

_10 | 20 stations_

1/4 2
% SUP (P) port

Applicable solenoid valve
VF3070-0000-330

Side ported/Individual EXH type
Type 71 VV5F3 -71-05|3
Stations —1

02 | 2 stations

EXH (R) port
1/4

10 | 20 stations

e THE,
SUP (P)port 5 " GyL (A, B) port
/4

Applicable solenoid valve
VF3170-0000-830

3-4-26

O
5



5 Port Pilot Operated Solenoid Valve

Rubber Seal Series VF 3000

B Mount: VV5F3-30

Common EXH: VV5F3-3001 Manual override (Non-locking)
Single
(Pitch) 2n-Re 1/8, 1/4
e P =275 22 (A, B port)
—~ il
?\: ) " 4-055 (G)
=8 i Tl (Mountinghole) —3 17.6
25 LR o
Zle o) ok i - :
S -g }}J A = VK
o|a] T > c L
0|2 s gle R
© (o 3|2 E ©
o= cl|@ = < ©
L S| E G
53 S
o | D b=l vt —
Pl g5 6-Rc 1/4
Sl -2 = (P, R port) ———
3|3 <13 =300 VFR
el = (Lead wire length) p—
oo PE port
Sy (Pilot EXH) VP4
VZS
VFS
° L~
(E) (T 2 915 [i015 (D, Y) Y:98[115] 'vea
86.5 g L e D:96 vs4
: > —
P i — <
il I I I = p- vQ7
95T = —
83 = Sle - ——| &4
- |0 « |8 — 85| o EVS
5|S £ dalge & x =2
H: 2 e 2 55| ¢ ——
8|51 =15 2| =14 25|52 = VFN
o o 28|% &4 —
olo = o) ] X =
L@ 2|8 — 8%| 2w
tH ] al3E|
f = = r
77(87] Q] Pg.9 :
Applicable cable O.D. % 81.5 2 Pg9
02.31022.8 2| /Applicable cable O.D. % Y:89
26 to 08 = D:87 [104]
885 825 Applicable cable O.D.
825 = Y:04.5t0 87
(L) = (M) X 63 D: 06 to 08
= o
| S S
38 = 2|8 -
o= o Sla
g|s E e 3
3 B
8=
=300 G2
(Lead wire length) -
E
©
[
3
L Dimension n: Stations

.t~ 2 [3[4|5[6]|7|8[9[10[11[12[13|14[15][16]17|18[19] 20
Q o L [835|111[1385]166 [1935]221 |2485|276 [303.5| 331 |358.5| 386 |4135 | 441 [468.5|496 |5235|551 |5785
[_I: with light/surge voltage suppressor L. |[715] 991265]154 181.5/209 (2365|264 |291.5| 319 |346.5 | 374 |401.5| 429 4565 | 484 |511.5| 539 |566.5

3-4-27

O
5



Series VF3000

B Mount: VV5F3-30, VV5F3-40

Common EXH: VV5F3-400112-02

Double Single
Ble [ 4o8B (¢)) =W
T / (Mounting hole)
S cg ] i s L3
g2 = =
dF & &
9 Ql g
0 (2 = HHE S
%5 2 {?-
=" .. Manual override P
e = M % BRela
Non-lockin i
P ( 9 ik \ (B Rpor)
[Ngts] E o “__PE port
E|5 3 (Pilot EXH)
Zla (Lead wire length)
olo
ol
) &
Py
5
(E) (M = 045 [OAE] (D,Y) Y:101[i18
895098 % : = D:99 [116
— %
l <L
' = =
= |44 ~|@] & ==
(el al8 s=| S|+
@8 1 N+ g - SR
.. Cl|= — “e 0 .. jy qeu—
5|5 & s|e D 551:5| B
== ] | 2 |G =22 | gE h
g | g et g8 e 272|272 ;
al 2] . o | 2 aa|8a =
oo b Sl b oo |so &
38| — *8 8% |22
© & T8
E | I >0 |35 - »
/ 80[60) = 3 Pgo ° B Pgo
Applicable cable O.D. % 845045 % Y:92 [109]
82.310 2.8 = s D:90 [107]
Applicable cable O.D. S
26 to 08 Applicable cable O.D.
Y:04.5t0 07
D: 06 to 08
(L) 915 (M) 8h5
855 66
66 4
- N
—~| =~ E‘ =
Bottom ported o |2 o e
-8 < |8
|2 S| E
S|& Nl o ——
\ 2n-Rci/4 "§ = 5le
: (A, B port) alg Z1 ==
. Y (AR S
N 29 o
i {;} 'C\A ﬁ g ® 3 g [
B - ©
5[|5 o=
PitcH (22, 2300 25
{P=275) (Lead wire length) g
o
2
©
©
Q
<
L Dimension n: Stations
I~ 2[3]a[5]6[7]8[9]10][11]12]13]14[15][16[17][18[19] 20
Q o L. |835[1111385]166[1935]221|2485(276 (3035|331 (3585|386 |413.5[ 441 |468.5| 496 [523.5| 551 |578.5
[_J: With light/surge voltage suppressor I, [71.5| 99 1265|154 1815|209 |2365 | 264 2915|319 | 3465|374 |4015 | 429 |456.5| 484 5115 | 539 |566.5

3-4-28

O




5 Port Pilot Operated Solenoid Valve

Rubber Seal Series VF 3000

B Mount: VV5F3-50, Spacer for Individual Exhaust

Individual EXH: VV5F3-50-14-02 (G) (T (D,Y)
o
Doubl Single ] 94.5 1045
ouble g 2n-Re1/4 3 v:101
] (Pitch) (EXHport)  2n-Rc 1/4 (P port) — L 2 D:99 {16
R P=27522 & 138 ” 3
‘; E3/ES| 4-055 = é I 3 =
S 1 * ¢ EEESEI TV (Mounting hole = =g — | @
= | A e e | ;’(¢~. g hote) 5 5|8 < | 85|58
S Qa" s Pl s ;ﬁ!ﬂ- NS @ 2| -G ox =3
g D = «s
2 FRF R : A= —
) | ES|ES 22| 13 E =3
3 g 58 7] so|is VK
o =3 t or- |2
gy P = 80001 A PR oo
SR L2 NG , 3 8450048 sa|va| G
3lz|g L1 Applicable cable O.D. % , >
SHEE ) = Applicable cable O.D. =2 Pg9
2|38 Manual override P, E port 02.310 2.8 o s
2|88 Ny = : 06 to 08 3 Y¥:92 [0l
:,‘ ®|o] ) (Non-locking) (Lead wire length) (Pilot EXH) s D:90
2|5l A AR AR An T o Applicable cable O.D. | ———
‘LI!JL\" dld. @ . 85 vioa5t07 | |VFR
ol taked A—C—DI 220 N D: 26 to 28 —
4 ™ 66 0 &
r ' gLe VP4
=52 3E —
Bottom ported TS 2[5, . VZS
AREER, #e i - VFs
‘ w (A, B port) 2% 2|8
A i g VFS
| ~|m — L
vy € 4 Aff—*f?\ﬂ 312 o= VsS4
2 *:;A}Btb B -::-}B( = - = r c{oﬁ‘é
SR (T_SOZ ire length) e vVQ7
- sll|5 ead wire leng S
[ — - var
“p=275) (22) L Dimension 3 n: Stations
~nN2[3[4|[5[6|7|8]|]9]10[11]12][13][14[15|16|17|18]|19] 20 EVS
Q:] o L. [835[1111385|166 |1935|221 (2485|276 [303.5| 331 3585|386 [4135|441 (4685|496 [5235(551 [5785 ———
: With light/surge voltage suppressor ™ ;™71 5T 99 [1265] 154 | 181.5| 209 | 236.5| 264 | 2915 319 | 346.5| 374 |401.5 | 429 [ 4565 | 484 5115539 5665 |VFN
Spacer for individual EXH/Applicable model: VV5F3-30, VV5F3-40
Double ~ Single
- 19
(Pitch) 13|
_ L p=275 22 4-95.5 ] o5
R o jle]l / (Mounting hole) R
- + I ;
s, 8 % 19
2 St ad e B Y| 8 It (€8
Cle % s !
0 'g == = - 4 [l .
3|3 T T+ ST | = -
218 J|E E ‘ 6-Rc 1/4
> Manual override et (P, R port)
Ak I izl (Non-locking) ey PE port
RS 6 =300 (Pilot EXH)
S|e (Lead wire length)
gle 1 2-Rc1/8
Clq EXH port
elgl nomon o g/ ey
g Ll UalidiLid[ B}
! N ol
™M ™
5 Individual EXH spacer
(DXT155-17-1A)
L Dimension n: Stations

L~ 2|3 |4 |5|6 |7 |8 |9 ]|10|11|12|13|14[15|16 |17 |18 |19 |20
Li |83.5|111]1385]166 [193.5|221 2485|276 |303.5|331 |358.5| 386 |413.5|441 |468.5|496 |523.5|551 |578.5
L [71.5] 99 (1265|154 [181.5|209 |236.5|264 |291.5|319 |346.5 | 374 |401.5| 429 4565|484 |511.5 539 |566.5

SVC 3-4-29

O



Series VF3000

S Mount: VV5F3-60, VV5F3-61

Common EXH: VV5F3-60-010]1 (G) (E) m (D,Y)
) =4 Y:77 [44)
Manual override > 705808 2 D75
Double (Non-locking) - 4 Re 1/4 (EXH port 8051253 q'—% % I
7 2n-Rc 1/4,1/8 e o b —
& (CYL port) i 4-M5 o5 ‘{‘ =I8 | H‘ s o
i g ‘18 [3 FF‘:‘Z%LHQJ (Mounting hole) g 8 - 8 ; l—;v_ 85_\3{ gg
Sl 3 24}3 -{; < = e ggg; FARi E S ains | 5|2 dns 55 '; S
Bl5o A TRER Sk 2[3 ol Zial boell 33| 8%
gl PR TR e AR 2|8 $o® g sl O 88’;3‘ ’@1\
5 I et e M B 15 2 () R 5{9 . ®o| 8o S
0o s TE 8| o 98 - Slg s o e |
8 [ @ e 2| 22\oe |
=& 5 6 Ca0d - elxa )
Ris ] ' = 245 56 - N T = Peo
5|5 (Lead wire length) ' % % / '
2(3 ' L3 143 Applicable cable O.D. g 3 /| 66 83
@Q,-; ‘ PR 02310028 Appiicable cable 0.0. = /\pphcable cable O.D.
ko ! . 06 to 08 W
oI [N | R I :06to o
 oladlisldldld o) | (L) (M)
8-M5X08 TR 675 615
(Bracket mounting screw) M5 X 0.8 -
C i AGEE 615 }
i i
%9 | & | & —~ =1 -
S B s 5@ <|8
chin RIREINNENE 2|3 8|2 .
0 8|2 2l g SUP ||
| N Qs D
s 8%
;
L Dimension n: Stations
L n 2 3 4 5 6 7 8 9 10
L. |[127.5]| 154 [180 [206.5|233 |259.5| 286 |312 |338.5
Q o L. |1155| 142 | 168 194.5 | 221 247.5| 274 |300 |326.5
[_J: With light/surge voltage suppressor Ls | 99 | 125 |151.5[178 |204.5|231 | 257 |283.5]310
Common EXH: VV5F3-61-001 (G) (E) (T) (D,Y)
. Applicable cable 0.D. Applicable cable O.D.
Single Applicable cable O.D. ° 26 t0 08 ﬁ Y- 045t007
Manual override A 02.310 02.8 = D: 06 to 08
(Non-locking) : E: 0 o\, Y:43.5(60.5]
=300 (Lead wire length) 315015 2 2| \D:41.5[58.5]
4-Rc 1/4 EZEYlgalgs! g
(EXHport) o #ESH# S NEE ]
Sl e e I 2:Ro 1/4 o
- E”:‘;' ;? 2OEDED W /' (SUP port) o R "
I S 1 pa 418 - i
OINEIES 5| zlhgl| ™' oe 8
= y «
n-Re1/8,1/4 )/ 80 e e
(CYL port) 705805
4-M5
(L) £
=300 (Lead wirelength) o %
2%
, =
La [14.3 | w § _
[ yn 15 - -
RN F N I -
o [ | SEe W E R A8
8-M5 X038 S eanaes 2 i
- - 9 725 665
(Bracket mounting screw) N M
e N (Pilot EXH)
L Dimension n: Stations
L n 2 3 4 5 6 7 8 9 10
L. |127.5| 154 [180 |206.5|233 [259.5| 286 | 312 |[338.5
Q . L. |1155| 142 | 168 194.5 | 221 247.5| 274 |300 |326.5
[ With light/surge voltage suppressor L. | 99 | 125 | 1515|178 | 2045|231 | 257 |283.5|310

3-4-30

O
5



5 Port Pilot Operated Solenoid Valve
Rubber Seal

Series VF3000

S Mount: VV5F3-70, VV5F3-71

Individual EXH: VV5F3-70-13 (G) (E) o (T) o (D, Y)y.77 104
1 o3 70.5[805] = D:75192|
) , 2n-Rova 655(755) 1 %
Manual override (Non-locking) (SUP port) b= ; b
Double ; @) ] [
(8 position type) Single = — g E—% § H o gg g
“ : (Pitch) 4-M5 X 3|5 g8 P
2n-Rc 1/8, 1/4 itc - - ® (S T M + cE|8L —
A P=264 445 i ~ 3 P =8 28|
$%CYL port) . a (Mounting hole) |8 . § 2 o gg 2§ e
! e e ey e ) =177 et 3| D@ %81
é 8 g 4 Ez;é {%&{‘dé}’@ - mlv g suP. g SUP. 00| 8y S0P I
a|c Py Ay o= — ® - %59.
T e Fod ] RE e |
i [Te} -— o - i —
5; EdEd EIED KD S s >a -
2o f 56(66] o Peo = Pg.9
=l L2 6 =300 Applicable cable 0.D. % 60.5(70.5] % Y:68 [85)
E § L (Lead wire length) ppéz.s o028 é Appl\cable[ éable oD, g D:66 (83
22 L3 143 (L) q (M) P Appiicable cable 0.D.
g|g| B8 i Yie4.5t007 |
Setse) 1 N TRy (g & Y=y o D: 96 to 28 VFR
[oRITe) 5 R AR AR P =ls gg
: I HE 5|5 ans VP4
,737 vrr\1 =| 8 dns B |24 | o
8-MbX0.8 2|l Sell g glg N —
(Bracket mounting screw) M5B X 0.8 g SUP ARy VZS
" (PiOtEXH) 2| g 38
2n-Rc 1/4 3 pFe 14 ‘—:d __2Rc1/4_ —
’ (EXH port) e F”_ (STCpoit) (SUP port) VFS
L0 W LN R | L - o=
RN aw e I g 245 L
poa i w{w{fv pa] I;:Td& l._.[245 @8 7 \ven
Il [ o N (Lead wire length)| |_61.5__] £ 615 VS4
EZE X TR 675 B ——
1 P=64] 445 . <
‘ L Dimension n: Stations vQ7
L n 2 3 4 5 6 7 8 9 10
L. 127.5| 154 180 [206.5|233 [259.5| 286 |312 |338.5 EVS
Q o L 115.5| 142 | 168 194.5 | 221 247.5| 274 300 [326.5 ——
[_: With light/surge voltage suppressor L. | 99 | 125 |151.5]178 |2045|231 | 257 |2835|310 _ |VFN
Individual EXH: VV5F3-71-003 (G) (E) M (D, Y)
Applicable cable O.D.
Manual override éfw' E‘. 06 to 28 IAPP:i(C_ablfgable g).D.
(Non-locking) - 2300 (Lead wire 02.31002.8 = J':lﬁ_ﬂ' D; gs.totgéa
2n-Re 1/8, 1/4 ) length) % FAHLE - 2|, 435805
(CYL port) 3 £3 E3 ' i = \Dit.S58.5
b—fot—lo o2 ol ' -
19 rg;,”:’,_ Ef' s 3 gﬁm 2-Rc 1/4 il ]
SR ST el a (SUP port) S
e = s
(Pich) || ass]]| @' : @
L, P=264 TN s b
TEG 655
4-M5 =
(Mounting hole) - e
(L) 5 (M) D-a0[57
o ; @
é olvlo E%%%()Lead wire 8;'
ek 38
B
2n-Rc 1/4
TEXHpor) (P=264) (44.5) '3_
T S 75
Il 3 S0
TR T
PO 5D ED EDED T
i I R SR Y «'\:
n-M5 X 0.8 =eh
= = (Pilot EXH) B
5 k81M5 th0.8 ] L Dimension n: Stations
racket mounting screw,
( 9 ~—] 2 [ 3 | 4] 5678 ]9 ]10
L+ 127.5| 154 |180 |206.5|233 |[259.5| 286 |312 |338.5
Q . L. |1155]| 142 | 168 194.5 | 221 247.5| 274 |300 |326.5
[_: with light/surge voltage suppressor L. | 99 | 125 |151.5[178 [204.5|231 | 257 |283.5|310
3-4-31

O




\)

3-4-32



@

NRTL /C

For details about certified products
C e m conforming to international standards,
visit us at www.smcworld.com.

5 Port Pilot Operated Solenoid Valve
Rubber Seal

Series VF500

Compact and lightweight:

32 mm width

Compact yet provides a large flow
capacity:

Sonic conductance

C: 12 dm3/(s-bar)

{4/2 — 5/3(A/B — EA/EB)}

Low power consumption: 1.8 W (DC)

VF5220
(DIN terminal)

VF5220
(Grommet)

_ VF5120
(Grommet
terminal

'far )

s 7 VF5120

VF5120
(Grommet)

(Conduit terminal)

Body ported

VF5544
(DIN terminal) g
VF5544

VF5244

(Grommet) VF5144

(Grommet)

Base mounted (With sub-plate)
JIS Symbol

Single Double
VF5120 VF5220
(g)(ﬁ) (52;)92)
315 315
R2PIRY) RAPIRI)
Closed center Exhaust center
VF5320 VF5420
B
(R2)<P)(R1) <R2>(P><R1>
Pressure center
VF5520 g
24
=Lt rsl}vlmm
RPR1)

Specifications
Fluid Air VK
Operating 2 position single/3 position 0.15t0 0.9 MPa L
pressure range 2 position double 0.1 t0 0.9 MPa
—10 to 50°C

Ambient and fluid temperature

(No freezing. Refer to page 3-13-4.)

2 position single/double

30 ms or less (at the pressure of 0.5 MPa)

)
Response time

3 position 50 ms or less (at the pressure of 0.5 MPa)
Max. operating 2 position single/double 5Hz VER
frequency 3 position 3 Hz I
Lubrication Not required VP4
Manual override Non-locking push type, Locking type B*, Locking type C*
Mounting orientation Unrestricted _
Shock/Vibration resistance @ 300/50 m/s? VZS
Enclosure Dustproof —
Note 1) Based on dynamic performance test, JIS B 8375-1981. (Coil temperature: 20°C, at rated VFS
voltage, without surge suppressor)
Note 2) Impact resistance: No malfunction occurred when it is tested with a drop tester in the ——
axial direction and at the right angles to the main valve and armature VS4
in both energized and de-energized states every once for each
condition. (Values at the initial period) —
Vibration resistance: No malfunction occurred in a one-sweep test between 45 and 2000 VQ7
Hz. Test was performed at both energized and de-energized states
in the axial direction and at the right angles to the main valve and p——
armature. (Values at the initial period) EVS
Electrical entry Gromr_net, G_rommet term|r_1al e
Conduit terminal, DIN terminal VFN
f AC50/60 Hz 100, 200, 12%, 24", 48",110", 220", 240"
| rat It: V : . : : . . —
SCIIEICRRIE Y DC 24,6°,12",48",100°, 110"

Allowable voltage fluctuation

—15 to +10% of rated voltage

Note) Inrush 5.6 VA (50 Hz), 5.0 VA (60 Hz)

Apparent power AC holding 3.4 VA (50 Hz), 2.3 VA (60 Hz)

Power consumption Note) DC 1.8 W, 2 W (With indicator light)
Light/Surge voltage suppressor AC ZNR (Varistor), Neon bulb (LED100 V or less)
DC ZNR (Varistor), LED (Neon bulb100 V or more)

(Grommet terminal)

Q = Option Note) At rated voltage

Flow Characteristics/Weight

Flow characteristics -
Valve model Type of actuation Pprt = SR IE = ) R BB 53 Weight
e 9 b lev| C b |cv| (kg)
[dm*/(s-bar)] [dm’/(s-bar)]
2 position single 71 046 1.9 7.7 05122 | 0.38
2 position double 71 0.46| 1.9 7.7 0.51]22 | 0.45
VF5020-0J0-02 | 3 position closed center | 1/, 6.7 0.46| 1.8 6.6 10.41| 1.8 | 0.56
E 3 position exhaust center 71 0.42| 1.9 | 8.0 [7.4] (045047 2221 | 0.56
S 3 position pressure center 6.8 [2.7] |051[050)| 20(0.78] 5.7 0.37| 1.4 | 0.56
2 2 position single 8.8 044| 2.4 10 04929 | 0.38
e 2 position double 8.8 0.44| 2.4 10 04929 | 045
VF50120-0-03 | 3 position closed center | 373 7.5 0.43]| 2.0 7.5 0.38| 1.9 | 0.56
3 position exhaust center 8.3 0.40| 2.2 | 10 [8.7] (048[046]| 3024 | 0.56
3 position pressure center 9.2 [3.0] |050[049)| 26[0.85] 6.1 0.35| 1.6 | 0.56
2 position single 7.3 0.49| 2.1 7.3 0.50(2.0 | 057
2 position double 7.3 0.49| 2.1 7.3 0.50| 2.0 | 0.65
VF50144-00-02 | 3 position closed center | 1/ 6.6 0.35| 1.7 6.3 03116 | 0.74
3 position exhaust center 7.4 0.33| 1.9 | 8.1 [7.4] [03%[034|21[19 | 0.74
< 3 position pressure center 8.0 [2.9] [035[048)| 2.1[085] 5.6 03115 | 0.74
B 2 position single 8.4 0.34] 2.2 8.9 029|283 | 057
5 2 position double 84 [034[22] 89 [029(23| 065
g VF50144-0-03 | 3 position closed center | 343 7.3 0.34| 2.0 71 0.28| 1.8 | 0.74
o 3 position exhaust center 8.1 0.27| 2.0 | 14 [8.3] (026/031){ 34R2 | 0.74
3 3 position pressure center 8.1 [2.5] [033[048)| 20(0.74] 5.7 03114 | 0.74
2 position single 9.4 0.43]| 2.7 12 0.32] 3.0 | 0.62
2 position double 9.4 043] 2.7 12 0.32| 3.0 | 0.69
VF5044-11-04 | 3 position closed center 173 71 041 21 7.4 0.32| 20| 0.79
3 position exhaust center 8.6 |0.39| 2.4 | 13 [8.9] [n2fjoa]| 315 | 0.79
3 position pressure center 11 [2.6] (0.18047)] 26[078) 6.1 0.35| 1.6 | 0.79
Note 1) With sub-plate Note 3) [ ]: Normal position
Note 2) Weight stands for grommet type.
3-4-33

& S\NC



Series VF5000

How to Order

Body ported A'A &+)

1

2
3
4
5

Port size « Thread type
02 Ya Nil Rc
03 % F G
N | NPT
1] 20 1[G 03 B
| I I — |
Port size
Ni Without
. . il
Type of actuation «— Manual override sub-plate
Single solenoid Nil Non-locking 02 1/4
Double solenoid push type 03 Y
Closed center B |Locking type B . V
Exhaust center C Locking type C
Pressure center
Light/Surge voltage suppressor

Coil

rated voltage e———

Nil None
z With light/surge voltage suppressor
s’ With surge voltage suppressor

* Indicator light is not available for grommet
type. W/surge voltage suppressor is

1 100 VAC, 50/60 Hz available for grommet type only.

2 200 VAC, 50/60 Hz

3*[110 to 120 VAC, 50/60 Hz Electrical entry

4+ 220 VAC, 50/60 Hz G Grommet (Lead wire length: 300 mm)

5 24 VDC H Grommet (Lead wire length: 600 mm)

6" 12 VDC E Grommet terminal

7 240 VAC, 50/60 Hz T Conduit terminal

9 Other D DIN terminal With connector
# Option DO Without connector

‘ How to Order Pilot Valve Assembly

DZ

1

SF4

(A) (B)

(A) Coil rated voltage

(€)

—- 50

(B) Electrical entry, Light/Surge voltage suppressor

(C) Manual override

1 100 VAC, 50/60 Hz Symbol Electrical entry Light/Surge voltage suppressor Nil | Non-locking push type
2 200 VAC, 50/60 Hz G Lead wire length None B Locking tvoe B
3*|110 to 120 VAC, 50/60 Hz GS Grommet 300 mm With surge voltage suppressor 9P
4+ 220 VAC, 50/60 Hz H Lead wire length None c Locking tvoe C
5 24 VDC HS 600 mm With surge voltage suppressor oyp
6 12 VDC E Grommet terminal None
7 240 VAC, 50/60 Hz EZ With light/surge voltage suppressor
9 Other LK Conduit terminal None
# Option TZ With light/surge voltage suppressor
D With None
DZ DIN connector With light/surge voltage suppressor
DO | terminal Without None
DOZ connector With light/surge voltage suppressor
S: * Interchangeable with the previous model, “DXT154-A-0000".
3-4-34

O



5 Port Pilot Operated Solenoid Valve

Rubber Seal Series VF5000

Construction

Single solenoid

(B
2 4
GRiIlA==
315
F2IP)HT)
VK
VZ
Double solenoid VFR
2% VP4
3°1 5 VZS
RENFRT) p—
VFS
VS4
vQ7
EVS
VFN

3 position closed center

B
2 4
315
(R2}(FIRT)
Component Parts Replacement Parts
No. | Description Material Note No. | Description|  Part no. Note
@ | Body Aluminum die-casted | Platinum siver DXTiS6-24-18P| Va | , Sub-plate Part No.
(@ |Adapter plate| Resin(® Black @ Sub-plate |DXT156-24-2P| 3/5 di:-r::;?;?i ;
3 |End cover Resin () Black DXT156-24-38P | /5 DXT156—24-z2[1P
(@) | Pilot body Resin @® Pilot valve SFA-CIOI0-50 Refer to “How to Order” 3
® |Pilot cover Resin assembly on page 3-4-34.
® |Piston Resin @ Thread type
(@) | Spool valve |Aluminum, HNBR Nil Rc
Note 1) 3 position: Aluminum die-casted F G
Note 2) 3 posit!on: Alumir]um . N NPT
Note 3) 3 position: Metallic paint T NPTE
3-4-35
% SVC



Series VF5000

Body Ported: 2 Position Single Solenoid

Grommet: VF5120-01G-33

Grommet terminal: VF5120-0E- 33

Q [__]: With light/surge voltage suppressor

137
11
+ o JoF L |
4+ 4B 4 H A_ﬁ' N F
A ILJ M % K“%—— - @< >
/ 58 Manual override 111
2-04.3 44 (Non-locking) —tr
(Mounting hole for manifold) g m\‘ -
e iie R
E [ {; Al I i v,
= 28 Manual override
106 o3 5 / 44 (Non-locking)
505 (Mouming.hole) l% Bg ] = - 2-04.3 -
—LiL'J Q § (Mounting hole for manifold)
- 1 )
A B ! i ' Applicable cable O.D.
el 18 7 Q 106 061008
1 & 505 3043 - 1
] H——— ounting hole [ -
R - == e
1485 | 3 aol | [T 5 W S
> Ot 1 S
27 10
M5 x 0.8 149,56
95 (PE port)
- | R2G- P R1
T 3 PE l
@4 -
26 | 26 5-Rc 1/4, 3/8 Q
(Piping port) [ 1: with light/surge voltage suppressor
Conduit terminal: VF5120-0T- 33 DIN terminal: VF5120-C1D- 3%
VF5120-01Y-$
Y:159.5
D:160 _MAX10
1695 MAX.10
111
FleaSiey ‘
L A % « b :
R ) ; ng 5
28 Manual override
2.64.3 % Manual override 2-04.3 LW’ (Non-locking)
(Mounting hole for manifold) (Non-locking) (Mounting hole for manifold)
Applicable cable O.D.
Applicable cable O.D. Y: 4.5 to o7
D: 06 to 08 ;
26 to 08 B
106 3-043 I 1
505 _ 3943 1. _ 505 - ;
] (Mounting hole) ,_Eg; ‘—T {Mounting hole) | i
T =1 10 e M 3 P —— TTH >
M= T1H T BE ol 53R
A2 ’ 7j7TJ% ’ gg <|F S EIxa
- s | & |L - | ©
27 @
148.5

Q [_1: with light/surge voltage suppressor

3-4-36

O




5 Port Pilot Operated Solenoid Valve
Rubber Seal

Series VF5000

Body Ported: 2 Position Double Solenoid, 3 Position Closed Center/Exhaust Center/Pressure Center
Grommet: VF50120-0G- 3 Grommet terminal: VF50120-JE- 33

172.5 (3 position: 201.5)
120.5 (3 position: 149.5)

(Mounting hole

for manifold)

== &l l@_- - Dl P
‘ : (R gi 5| 120.5 (3 position: 149.5)
! &1 T‘ - g mi_ﬁ A xl - E}‘ 1
LI : Nl L\ TSI
@ | @f |~ |5 N ASE A —
2.04.3 28 Manual override 1= @ € B3 : G ATy ‘@5‘} VK
o4, e ST
(Mounting hole for manifold) “ (Non-locking) ) } ' ) L
= 28 Manual override ——
2 2-043 f 44 (Non-locking) VZ
- o Mounting hol ifold
110.5 (3 position: 139.5) o (Mounting hole for manifold)
3-04.3 ]
8 / (Mounting hole) 15 g
+ # : ] Applicable cable O.D. ——
_ T — 3 . pplical
} N b - Y- 110.5 (3 position: 139.5) W/ VFR
i 2 © K ftel ! 3-04.3 i L
- N [ i D# - (Mounting hole) [
g . ‘ e L CT } ; ) VP4
7] 3% Tl BT —
196 (3 position: 225) 32 5 g : & Z § VZS
. -5 ! ~- —
27 o VFS
89 2-M5X0.8 197.5 (3 position: 226.5 —
| |/ PEpor) vs4
[ L
F_—ﬁé’_%\g N g X ;‘ | [ T
1 \Tj/ OCd] |- varz
' [.26 260< - ‘ o
5-Rc 1/4, 3/8
(Piping port) EVS
Q [_]: With light/surge voltage suppressor VFN
Conduit terminal: VF50120-CT-3 DIN terminal: VF5[120-C1D- 3
VF50120-0Y-33
Y: 217.5 (3 position: 246.5)
MAX.10 D:218.5 (3 position: 247.5) MAX.10
MAX.10 218.5 (3 position: 247.5) MAX.10 120.5 (3 position: 149.5)
120.5 (3 position: 149.5) = ‘ 7
iy t | - o ] B Aoyl Nl P
o L S R A
$ N MEF NS & % i =
1 £ 1 f \Pg.9 28 M | id
o8 Manual override 2.04.3 44 Manual overrice
2-04.3 " a4 (Non-locking) (Mounting hole for manifold) (Non-locking)

Applicable cable O.D. Applicable cable O.D.

O

26 to 08 B gg'tsotgéﬂ B
| 110.5 (3 position: 139.5) 1 W 110.5 (3 position: 139.5) ‘ .
N | | ]
U:%S LT 71'\ I ,,ﬁ_ g g ‘ i “I ) @ ' " B@ Bl
o T Tle o B o o o 83[2R
4 ‘ N > “ J NG H LY N sal>a
k- £ | & 3 -
3-043 jl2z ] g 3-04.3 27 o
(Mounting hole) 196 (3 position: 225) (Mounting hole) 196 (3 position: 225)
Q [__1: With light/surge voltage suppressor Q [_1: With light/surge voltage suppressor
3-4-37



Series VF5000

Base Mounted: 2 Position Single Solenoid

02 . 02
Grommet: VF5144-DG-8§ Grommet terminal: VF5144-DE-82
o @31
2 g‘ 27 _, 405(40)
NN
o<
& 17{ ﬁ} 2-05.3(2-06.5)
. - ‘ Manual override (Mounting hole)
! (Non-locking) v G- ———
[ o
n o N A
_— = <
m Rf@ P R2T
M5 %08 2. 55.3(2-26.5) 82(87) 95(@)
(PE port) Manual override " (Mounting hole) 106
~ i _ (Non-locking) E—~v— =8 111
Slodot 4 NI S AT . ¥ 18e 1495
I ——e <
R1 P 2 Applicable cable O.D.
(26.5) 82(87) 1L 185 26 to 08
205 106
665(705) | =300 | T 3 ]
(Lead wire length) 137 g =
1485 0 @ 'ﬂ i Bl
<l
S5 Ll ] @
i 52 3
| 8y | 5
=) s L) Vai i oF'©
| | S8 } E & &
a3 s = EIEE RGIG
l i 5-Rc 1/4,3/8, 1/2 30 | 30 =R
= <§ PRy — (Piping port) 42(46) ] B0(4) |~
' & O { < 8 < 54.5
5-Rc 1/4, 3/8, 1/2 ey EER
(Piping port] 42@6) T soka) | TS
545
Q Q () :VF5144-0E-04
(): VF5144-00G-04 [z With light/surge voltage suppressor
. . 02 . 02
Conduit terminal: VF51 44-DT—8431 DIN terminal: VF5144- D-gg
02
2-05.3(2-06.5) VF5144-1Y-03
ounting hole 04
—V——g - - 2-05 3(2-06.5)
‘@ S (Mounting hole)
—— D« 11 O 8 )
H @ g S—
Manual override R1 P R2 1t -
(Non-locking) 82(87) 95(7) g
' 106 ' Manual override
i (Non-locking) . 82(87) 95(7)
MAX10 | 1595 106
Applicable cable O.D. V1595 111
261008 MAX.10 D:160°
Pg9 '
Applicable cable O.D.
= 1 Y:94.5t0 07
E 2 R D: 06 to 08
b [1=3 . Pg9
|2 i T .
Qlo i 1
=\ i ! = o [
3] o] [@] ~ ~
[’é\ I l 3 SEE ‘
08 Oy (e 2835 E i i
58 SARNP \}i‘gjé’ﬁ =52 | | i ®
21 ] [S)
5-Rc 1/4, 3/8, 1/2 @1 | @1 EGIG =2 ‘ ’ - g
(Piping port) 30 28(54) N R ] ™~ T =0 ~
3o DO Olam
o4 SRR e
310 | (31 o8 o]
5-Rc 114,38, 1/2 % | 5 EER
(Piping port) 42(46) | BO(B4) | [
645
() :VF5144-00T-04 () :VF5144-D$-04
[1: With light/surge voltage suppressor [_1: with light/surge voltage suppressor

3-4-38

O




5 Port Pilot Operated Solenoid Valve )
Rubber Seal Series VF 5000

Base Mounted: 2 Position Double Solenoid, 3 Position Closed Center/Exhaust Center/Pressure Center

02 . 02
Grommet: VF5D44DG-32 27(31) Grommet terminal: VF5D44DE-82
G 10(105)
<
&)
RIS T
Sl |} ™ 17
o my QB
29 2-¢5.3(2-06.5)
]‘ 1 i Manual override (Mounting hole)
| (Non-locking)
—v—18g ]
ﬂ 1 R ey
‘ 110.5¢139.5 | @ > | -] oy
Tl j b
g H1@ Pl __R2 VK
2:M5x08 2-05.3 (2-06.5) 82(87) —
(PE port) Manual override (Mounting hole) 120.5¢149.5>
(Non-locking) 2 R - ——— _ 197.5¢226.5>
Bolob Nt  lEm= 5 R Ry i
& e '\W"ﬁ - ! M| Ja
- & | A
225 [(26.5) i}ﬁ—&z‘ﬁ% Applicable cable O.D.
665(705) | =300 130641495 < 02310 02.8 VFR
(Lead wire length) 172.6<201.5> ! ! P —
196¢225)> I i =]
e &2 | |VP4
o)1y L
il ool | L—r
§ ! | ] 2512
- 1 | o U8 i VZS
7 f = N0 : o —
' g H Q3 o
I \ 18 ‘g} {) €J‘ 38?3 w0l VFS
7 & ; % 5-Rc 1/4, 3/8, 1/2 A4l Egﬁ —
T ! ™~ P e (31) | (31 =N
Jan; of 9 (Piping port) ettt v 4
} NS 30 [ 30
g} €> e B 92(100) S—
T Bk T—
5-Rc1/4,3/8, 1/2_, g(‘)) <§g)> | vQ7
(Piping port) ERED) I
() :VF5044-0E-04 EVS
Q () :VF5044-0G-04 [ J-With I?ght/surge voltage suppressor —
< >:3 position < >:3 position VEN
. . 02 . 02
Conduit terminal: VF5044-00T- 03 DIN terminal: VF5544'DD'32
02
VF5D44-DY-8§
-05.3(2-96.5)
Manual override %Mgoir?t?r?giole) 2-05.3(2-065)
(Non-locking) - — — (Mounting hole)
p— -
, el N A I e o e e T
L ' J J—a N o ol L© g
R P RZ | B r—1
82(87) Manual override, R1 P R2 1P
120.5¢149.55 (Non-locking) 82(87)
MAX.10 218.5¢247.6> MAX.10 120.5<149.8>
‘ Y:217.5 <246 5>
MAX.10 D:218.5<247.5> MAX.10
Applicable cable O.D.
06 to 08 Applicable cable O.D.
Pg9 Y:04.5 to o7
~ D: 06 to 28
- fE— %i Pg.9
— == : » r
—HE W 2la T s
! ‘ [ : ( | S|@ i ~ |[@
Q[ & i
| g s i FTEE S
‘ —= N 52 ] 1 { e
Nz W iR ! ' HEEEE
D G ISER gls ‘ | [7;'351’:@-
5-Rc 1/4, 3/8, 1/2 LN BER == . ; ==l o'y
(Piping port) (go) (gg)) E&g i} ‘Q’} 7 : ¥ E a E 3 ; &
82.000) 5-Rc 1/4, 3/8, 1/2 4. BERR
[ Bt 31 [« O
(Piping port) 30(3;2 fg(; ) N IVIN
() :VF5044-0D-04 () :VF5044-01°-04
Q [_]: With light/surge voltage suppressor [_]: With light/surge voltage suppressor
< >: 3 position < >:3 position

SVC 3-4-39

O



VV5F5-20

3-4-40

Series VF5000
Manifold Specifications

VV5F5-21

Manifold Specifications

Manifold type B mount (Single base type)
Exhaust port type Common EXH
Max. number of stations* 10 (15 for 21 type w/side block)

* For more than 5 stations for type 20 and 40 or more than 8 station for type 21, supply air from both
sides of supply (P) port and exhaust air from both sides of exhaust (R) port.

Manifold R (EXH)® Piping/Port location Port size Rc Applicable @
base model port type B R A B B R A, B |valves model
i i 1
VV5F5-20 Common | =de | Side Top ¥ ¥ /4
Base | Base | Valve Y8
Side | Side | _Top 1) 1 s | VFeH20
VVsFs-21 CommMON e biock |Side block| Valve 2 2 Y
VVSF5:40° | Common | Sioe | Side fBottom| g, | gy | 4, | yrsoe
Base Base Base
x Its flow characteristics is 80% of that with sub-plate.
Note 1) P (SUP) port is all common.
Note 2) Model number for valve unit is that for application manifold.
Option
Description Part no. Applicable manifold model
Individual EXH spacer assembly DXT156-20-1A VV5FS-20/21
P y DXT156-20-3A VV5F5-40
Blanki lat bl DXT156-19-1A VV5F5-20/21
anking plate assembly DXT156-19-2A VV5F5-40

Q Note) Spacer is used when it is necessary to exhaust from certain valves individually.

How to Order Manifold

Instruct by specifying the valves and blanking plate assembly to be mounted on the manifold
along with the manifold base model no.
(Example) VV5F5-20-051.----- 1 pc. (Manifold base)

*\VF5120-1G-03----2 pcs. (Valve)

*\/F5220-1G-03----2 pcs. (Valve)

x*DXT156-19-1A----1 pc. (Blanking plate assembly)

The asterisk denotes the symbol for assembly. Prefix it to the part nos. of the solenoid valve, etc.

o
5




5 Port Pilot Operated Solenoid Valve ]
Rubber Seal Series VF 5000

B Mount (Integrated type)

Top ported/Common EXH type Applicable solenoid valve
Type 20 VF5020-0000-330

VVSF5-20{05]1 i mia e

. DXT156-20-1A
Stations - Applicable blanking plate
02 |2 stations assembly

DXT156-19-1A

_10 |10 stations

N X

VF
VFR
Top ported/Common EXH type Applicable solenoid valve [——
Type 21 VF5020-0000-% 0 VP4
A, B port L

VV5F5 - 21 = 05 1 ;\g;l:i:ra:;es:::li)\ll\i’dual EXH VZS

. ._] DXT156-20-1A

Stations Applicable blanking plate

02 | 2 stations assembly VFS
: : DXT156-19-1A —

15 |15 stations VS4
vQ7
EVS
VFN

Applicable solenoid valve

Type 40 VF5044-0000

Applicable individual EXH

40 = 05 2 - 02 spacer assembly
DXT156-20-3A

Stations -—] Applicable blanking plate

02 |2 stations assembly
I DXT156-19-2A

10 |10 stations

SVC 3-4-41

O



Series VF5000

Common EXH: VV5F5-20, VV5F5-21

Common EXH: VV5F5-20-1001

(G) (E) (T (D,Y)
2 = Y:106[123]
Manual override (Non-locking) % 99.51100.5| % D:104
Double ) 945[1045 > >
Single 1 g
~ 2n-Rc 1/4, 3/8 ‘ ]
] 5 (A, B port) —| 175, N ‘ & &5 e :
L S B (Mounting hole) — (: = e ‘; 2| 55 ]
5 g2 o §|5 2le £21%% | 19
2| o 3E g9  i[z 52 g8 &8 *@*;3}
Q &l — Q| al @ |o oo ) b ?
2 = g5 ol 0 g 00| 3
8 HE 5| &8 T R&| oo
Sle i sa| >0
= g£ (=2 '
als|e| Z|£ =300 \ 6-Rc 3/8 - Pg9 & P%
==l e = 3 Lead wire length (P, R port) =} 9. o Y97 114
iz PR osd| ternen | of Somwa| o /|G
HEE (Pilot EXH) Applcable cle OD: | /. ie cavie 00, S| /Avplicable cable O.0.
Slol : : 26 to 08 Y:04.510 07
20| D: 06 to 28
gigle Individual EXH spacer assembly
2-Rc 1/4
i (R1, R2 port)
| o
‘( g
Individual EXH spacer
(DXT156-20-1A) . .
L Dimension n: Stations
L n 2 3 4 5 6 7 8 9 10
L. 93 126 159 192 225 258 291 324 357
Q [_J: with light/surge voltage suppressor L. | 80 | 113 | 146 | 179 | 212 | 245 | 278 | 311 | 344
Common EXH: VV5F5-21-C1001
(G) (E) (T) (D,Y)
Double E 2 Y:108.5[125.5]
2n-Rc 1/4, 3/8 = 102 z D:106.5[123.5]
Single (A, B port) 6-Rc 1/2 97 = 1112] =
1 4-00 P, R port (107} 1 - ‘
\ 3 (Mounting hole) 20 ( por) PN . T
g . ke alel TI & o J | | 8E
Q] Qo i T ) 1 —— NS ¢ ST - r—-—-——w
| Qg 521 % 1 D D [ Qe =l ST | 22|85 -
S 0 E Cvlis A 0 N 1 =g bl ey 55|22 o :
Rl I | ) e
- RS RS ESES * el ot 1D 2 |8y ——p g_g_ oo i g1
e FLF LA LI Qg o 1@ S e =l T Xl . g
~ (& ! _ ® 15 T I RIS
P ! Manual override @ & r sal” -
‘é’- S|2 . (chh) 475 (Non-locking) I":' q ‘ PE port ) e ,
Zl5s Lz7 =5 175 oo (Pilot EXH) 75 4 b0 Peo
3 § (Lead wire length) 73] e 92 2 Y:99.5(116.5
S2iq| ‘Applicable cable 0.D. 102! % D:97.5/114.5]
<s|S - 02.31002.8 § Applicable cable 0.D. =
< Individual EXH spacer assembly 06 10 08 Applicable cable O.D.
i i 2-Rc 1/4 Y 04.5t0 07
= : I (R1, R2 por) D: 06 to 08
3, »
! PRI
‘ ) 8
ol
N
Individual EXH spacer 2l
(DXT156-20-1A)
L Dimension n: Stations
L ng 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Q o L1 163 | 196 | 229 | 262 | 295 | 328 | 361 394 | 427 | 460 | 493 | 526 | 559 | 592
(1 : ith light/surge voltage suppressor |, | 128 | 161 | 194 | 227 | 260 | 293 | 326 | 350 | 392 | 425 | 458 | 491 | 524 | 5567

3-4-42

O




5 Port Pilot Operated Solenoid Valve )
Rubber Seal Series VF 5000

Common EXH: VV5F5-40

(G) (E) (T) (D, Y)

Manual override Double
(Non-locking) Single
. Y:108[1259
B 065 (053 1015 DQS:
| Y e 57- ° 915 E D:97[14
oy BT pTET BT Elg e 205 g 20.5
e R Rk 1T X 205 g : S (el 20:0
81z kauny R ,‘L,i E ! 1 = iy - 13 3 13 _—
Ep RN Lt o | E 1 [ 22Teg| Lo [ VK
TR 1 = - 5|5 - e |8 T
L st = ME 3|8 = DAV T e e
A el s i S N HEE " —
B a 8|2 o == |30 -y &)
(Pitch) P =33[23,5 407 - I {ae g|& BL lt‘?—‘ gglas E} L‘.’B 2
L. 65 (Mounting S S I - o |22 ——
> o=@
L hole) P 1k Ei‘i" R b
6-Rc38 &l H 6-Rc 3/8 N&I D5 ﬁﬂf 6-Rc 3/8
(P, R port) i (P, R port) >0 . (P, R port)
4-M5 X 0.8 = Pgo 4-M5 X J 4-MHX 0.8
- I . (PE port) oS (PE port) = .
(Lead wire length) ‘Applicable cable 0.D. (PE p PE port
— 02310 02.8 2 4 oicable cable OD. % g9 \Agplcable cabie 0. (7 POV VFR
26 10 08 3 Y:04.5t0 07 L
D: 06 to 08

VP4
vZS

10356
(With individual EXH spacer)

T 2n-Re 1/4

1 T ‘ TA) (:, Bcport) VFS

b ,‘ . [ - /7 —
T PAOA GAGA SAY
t €888 ©8 08 et ——VS4
|l e . .
(A L Dimension n: stations | | VQ7
P=33|,.]236

0] 1 2 3 4 5 6 7 8 9 [ 10 ——

Q o Li 60 | 93 | 126 | 159 | 192 | 225 | 258 | 291 | 324 | 357 |EVS

[_1: with light/surge voltage suppressor L. | 47 | 80 | 113 | 146 | 179 | 212 | 245 | 278 | 311 | 344

VFN

SVC 3-4-43

O



\)

3-4-44



